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Chapter-1

1. Write the name of properties:
(a) Closure property of addition
(b) Commutative property of
addition
(c) Associative property of addition
(d) 0 is additive identity
2. Write the additive inverse of the
following integers:
(a) —24 () 0 (c) 18
(d) 75 (e) -16
3. Write the additive inverse of the
following integers:
(a) 25 + (-5)
=25-5=20
(b) (=80) + (-20)
=-80-20=-100
(c) (+100) + (-20)
=100-20=80
(d) (+60) + (-60)
=60 —-60=0
(e) 200+ 0
=-20+0=-20
® ( 20) + (-20)
=-20-20=-40
4. Find the sum of the following
integers:
(a) 132 + (-502)
=132-502=-370
(b) 168 + (-272)
=168 -272 =-104
(c) (-352) + 250
=-352+250=-102
(d) 255 + 622 + (- 102)
=255+622-102
=877-102=1775
(e) — 500 + (-250) + 882

=-1500-250 + 882
=-750+ 882 =132

. Fill in the blanks:

(a) - 252
(d) 0

(b) —200 (c) -850

. Let the number be x:

x=-19-60
=x-79
The other number is — 79

. Let the third number be x:

x+(=17)+(-20) =60

x—-17-20=60
x—-37=60
x =60+ 37
x =97
The third number is 97
. Let a =10, =7 and ¢ =-12 show
that:
(@) a+b=b+a
10+7=7+10
17=17 Hence Proved
®)b+c=c+b
7+ (12)=(-12)+7
7-12=-12+7
-5=-5  Hence Proved

(©)a+c=c+a
10+ (-12)=-12+10
10-12=-12+10
—-2=-2  Hence Proved

@ (a+b)+c=a+(b+c)
10+ 7) + (-12) = 10 + (7 + (-12))
17-12=10 + (-5)
5=5 Hence Proved

. Subtract the following:

(a) 45 — (-70)
=45+70 =+ 115



(b) 90 — (-82)
=90+82=172
(0) (=80)—(=50)
=-80+50=-30
(d) 0—(-50)
=0+50=50
(e) (=70) - (-70)
=-70+70=0
2. Evaluate the following:
(@) 15-(-7)
=+15+7=22
(b) (-18)-10
=-18-10=-28
() 8-(-24)
=-8+24=16
(d) 20— (+7)
=20-7=13
(e) (=50)-(50)
-50-50 =-100
3. (-18)+(-19)
=-18-19=-37
(-20)+30=10
The difference of — 37 and 10 is
=-37-10=-47
4. The other number be x:
x+5=-18
x=-18-5 =x=-23
The other number is —23
5. The sum of (-50) and (-60) is
=-50 + (-60)
=-50-60=-110
—110 subtract from 110
-110-110
6. The sum of (-80) and 60 is
=-80 + 60 =-20
Subtract (-56) from (-20)
=-20-(-56)
=-20+ 56 =36
7. The third integer be x:
x+35+(-65)=-118

x+35-65=-118
x+35=-118+65
x+35=-53

x=-53-35 x =-88

The third integer is —88

. Which one is greater:

(a) (-58)-60
=-118 =58-60=-2
(-58) —60 < 58 —60
(b) 0 + (=70)
=0-70=-70
=(-70)+70=0
=0+ (-70) < (=70) + 70
(c) 22+ (-20)=2
=-40 — (-40)
=-40+40=0
22 + (-20) > (-40) — (-40)
(d)(2-2-2)
=-4-2=-6
2+2+2)=6
(-2-2-2)<(2+2+2)

. Let a=-17,b =8 and ¢ =—6 verify

the following:

(@ a-b#b-a
-8 =8-(-7)
—15#15 Hence Proved

b)yb—c#c-b
8§—(-6)=-6-8

14 #-14 Hence Proved
(©Qa-c#c—a

D-(6)=(6)-(-7)

-7+6=-6+7

-1#1 Hence Proved
(d(@-b)-c#a—(b—c)

7-8)-(-6)=-7-(8-(6))

-15+6=-7-(8+6)

-15+6=-7-14

-9#-21 Hence Proved

. Writ the name of properties:

(a) Closure property of
multiplication.

(b) Commutative property of
multiplication

(c) Associative property of
multiplication

(d) Distributive property of
multiplication over addition



2. Write the multiplicative inverse
each of the following:

1 1
(€] 7 (b) 7
(c) Does not exist
1 -1
@ 200 © 450
3. Find the product:
(@) 5x7=35
(b) 15 x (-2) =-30
(¢) (-10) x (-5) =50
(d) (-30)x0=0
(e) (-18) x (-5)=90
) (-25) x (6) =-150
4. Find the product by
associative property:
(@ 4x(=2)x5
==-8x5=-40
(d) (3)x(=2) x5
=6x5=30
(© (2) x (=7) x (-9)
=14 x(-9)=-126
(d10x2x4
=20x4=280
(e) (6) x 8x(-7)
=48 x (-7)
=+ 336
5. Find the product:
(@) (4 x (=5) x (-7)
=20 x (-7) =-140
(b) (=5) X (-9) x (-6) X (-5)
=45x30=1350
(©) (2) x (-10) x (=5) x (-1) x (-2)
=20x(=5)x () *x(-2)
=-100 x (-1) x (-2)
=100 x (-2) =-200
(d) 3)X(B)X(=2)%(=2)X(=3)%(-2)
=24x4x6=576
6. Product of (-9) and (-8):
=-9x%x(-8)=72
Product of (4) and (-7)
=(4)x(-7)=28
Sum of 72 and 28
=72+28=100

using

7.

10.

11.

Product of (-12) and (-6):
=-12x(-6)=72
Product of (-8) and 5
=-8x5=-40
Difference of 72 and —40
=172 - (-40)
=72+40=112

. Find the sign of product if:

(a) Negative (b) Positive (c) Positive
(d) Positive

.Let a=-2,b6=3,c=-4 and verify

the following:

(@) axb=bxa
=-2x3=3x%x(-2)
=-6=-6 Hence Proved

(b) bxc=cxb
= 3% (-4)=(4)x3
=-12=-2 Hence Proved

(c) axc=cxa
=2%x(4)=(-Hx(-2)
=8=8 Hence Proved

(d) (axb)xc=ax(bxc)
(-2x3)x(-4)=-2X%X (3 x(4))
=—6x(-4)=-2x%x(-12)
=24=24 Hence Proved

Fill in the blanks:

(a) 45 (b)-1(c)—45,64(d)0

(e) 525

Verify the following:

(a) 625 x [100 — 2] = (625 x 100) —
(625 x 2)
=625 % 98 = 2500 - 1250
=61250 #1250 Hence Proved

(b) (=560) x [102 + 2] = [(-560) X
(~102)] + [(-560) x 2]
=-560 x 104 = 57120 + (-1120)
= 58240 # 56000 Hence Verify

. Divide the following:

(a) 70 by 14
=70+ 14=5

(b) —64=8=-8

() 88 = (-11)=-8



(d) -66 = (-6) =11

(e) 40+ 1=-40

® 0+ (-100)=0

(8) (-80) ~ (-80) =1

(h) (-800) + 40 =-20

(i) —500 + 0 = Infinity

() 800 +40=20

(k) (-800) = (-800) =1

(1) 800 +800=1

2. Leta =4,b =-2and ¢ = 2, verify the
following:

(@) a+b#b+a
=4+-(-2)=(2)+4
=-2#-0.5 Hence Proved

(b)b+c#c+b
=-2+2=2+(2)
=-1=-1 Hence Proved

(©)a+c#c+a
=4+2=2+4
=2#0.5 Hence Proved

(@) (a+b)+c#a+(b+c)
@A=-2)-2=4-(-2)+2)
=-2+2=4-+(1
=-1#-4 Hence Proved

3. Solved the following:

(@) [(=2) x (=8)] ~ [(-2) x 4]
=16+ (-8)=-2

(b) [(=5) x 8] + [(-8) x 5]
=40+ (40)=1

(©) [(=8) ~ 4] x [16 ~ (-4)]
=-2%x(4)=38

@ [2) + (HD] + [(2) + D)
=-6+-3=2

© [(2) + (4] = [+ D)
=6+-3=2

® [16 + (D] ~ [7) + 3]
=[12] = [-4]=-3

4. Let, the other integer be x
=4Xx=-88

=x=-88+4

=-22

5. The sum of (-18) and (-6)
=-18 + (-6)

=-18-6=-24

The sum of (-5) and 3
=-5+3=-2
Divide (-24) + (-2) =- 126
6. Product of (-12) X 6 =72
Product of (-3) and 3
=-3x3=-9
Divide —72 and -9
=-72+(9)=38
7. Divide 300 by (-10)
=300+ (-10) =-30
Divide 400 by 20
=400+20=20
Sum of quotient
=-30+20=-10
8. Subtract
(-100) — (-80)
=-100 + 80 =20
Sum of (-25) and 5
=-25+-20
Divide (-20) + (-20)
=-20+-20=1
9. Fill in the blanks:
(a) -1 (b) 0 (c) -85 (d) No meaning
(e) —600 (f) —80

10. Simplify:

_ [12)+2] x[(-15)+(=3)]
[8) = (2] +[(-D)+(-1)]
_—6x5 -30
-6x5 =30
MCQs (Mental Ability)
1. Positive 2. Positive 3.14.05. 3
NCERT CORNER
Fill in the blanks:
1. Positive 2. Positive 3. Positive
4.0dd 5.1
True or False:
1. True 2. False 3. False 4. False

5. False
Chapter-2
1. Write the fraction in which:
5 7
2) = S
(@) T () B



2. Convert the following fractions into numerator denominator:

mixedfractions 60
@3 ® 9 © 6> @5 @50
10 6 60,2 30 _ 60 4 _15
9 80 2 40 80 4 20
©9 60 5_12 301512
3. Convert the following mixed 80 5 16 740°20°16
fractions into improper fractions: ) 100
OENCEICEORACES %0
100 2 50 _ 100 5 _20
4. Write three equivalent fractions to 90 2745 905 18
the following fractions by multiply 100 10 10 .50 20 10
numerator and denominator; 90 10 9 745’18’ 9
1 120
(a)i (C)ﬁ
1 2 2 1.3 3 120 260 120 3 _ 40
X —=— > X —=— = —
272 4 7273 6 150 2 75 150 3 50
1.4 4 234 120 5 _24 .60 40 24
274 8 4’6’8 150 5 30 775750 30
2 200
ud d) ==
(b)3 ()100
22 4 22 6 200 2100 _ 200 4 50
X == - X—=— — —
372 6 372 9 100 2 50 100 4 25
2.4_9 L4069 200, 5 _40 . 100 50 40
374 12 69’12 100 5 20 ""50°25°20
3 1000
p— e [
© 5 () =00
3.2_6_33_9 1000 2 _500 _ 1000 4 _250
572 10 53 15 500 2 250 500 4 120
3.4_12 .6 912 1000, 2 _200 500 250 200
4”4 20 "'10°15°20 500 2 100 250°125°100
) é 6. Write the following fraction into
5 simple form:
4 2 8 4 3 12 150 150 15
X = X == (a)— =T
572 10 5 3 15 130 130 13
4 4 16 8 12 16 89
Tx==-2 S ® > b=
574 20 10’15’20 28 28
5 75 75 5
€) — — —_—=—
©3 © 3 30 2
52 10 5 3 15 85 85 17
—X—=— > -—X—=— (d)— — =
82 16 8 3 24 60 12
5,420 .10 15 20 (e)@ 210 _3
8 4 32 '16'24° 32 70 1

5. Write three equivalent fractions to 7. Which fraction is greater:
the following fractions by divide



2 3
a) —or—
()3 5
L.CM.of3,5is15
2x5 10 3x3_9
3x5 15 5x3 15
2 3
=—>—
3 5
12 6
(b)g ”g

L.CM.of15and 5is 15
12x1 _12 =>6><3 _18

15x1 15 5x3 15
12 _6

15 5
8 3

C p— PR

© 536
L.C.M. pf9and 36 is 36
8x4 32 R 3x1 _ 3
I9x4 36 36x1 36
8 3
7>7
9 36
3 18

) Zor -2

@55
L.C.M. of 5 and 30 is 30
3x6 18 18x1 18

= = =
5x6 30 30x1 30
They both are equal.

8. Which fraction is smaller:

2 6
2) Zor—
()90;’7
L.CM.9and 7is 63
2x7 14 _6x9_54
I9x7 63 7x9 63
14 54
7<7
63 63
3 6
(b)grﬁ
L.C.M. of 8 and 10 is 40
3x5 15 6x4 24
8x5 40 10x4 40
15 24

40 40

5 7
Q) Zort
()7or5

L.C.M. of 7and 5is 35

5x5 25 7><7 49

7x5 35 5x7 35

25 49
_ < _
35 35

()ﬁ0374

L.CM. of 17 and 34 is
8x2 _ 16 - Ix1 _ 9
17x2 34 34x1 34
16 9

3434

9. Write the following fractions in

increasing order:
16 5 218 4

11'11°11°11°11
2 4 5 16 18
11 11 11 18 11

25711

© 3512924

L.CM.of3,5,12,4and 24 is 120
_2x40 5x24 7x10 1x30

3x40°5%24°12x10" 4 %30’
1x5

24 x5
80 120 70 30 5

~120°120°120°120°120
5 30 70<80 <120

120 120 120 120 120
1 1 7 2 5
< —<—

"1 1 127375

L.CM.of16,4,4,2and4is 16
_4x1 2x4 5x4 3x8 9x4

T 16x14x4’ 4x4’2x8 4x4
4 8 2024 36

16'16'16'16°16
_4_8 20 24 2436
16 16 16 16 16'16




10. Write the following fractions in
deceasing order:

31161315
7777 17
5 6 11 13 15
A P Jui S
7 7 7 71 17
4 4 44 4
(b)giﬁigygiﬁ
4 4 4 4 4
< —
2 5 9 11 14
291114 13
(C) P R DR RS
714714 56 28

L.CM.of 7, 14, 14, 56 and 28 is 56
_2x8 9x4 11x4 14x1 13x2

T 7x8'14x4’14%x4°56x1°28x2
16 36 44 14 26

5656’ 565656

_l4_14 2636 _44
756 56 5656 56
4 2_13_9 11

— <
“56°7°28 14 14
9 6 51 3
12’247 48’24’ 24
L.CM. of 12, 24, 48, 24 and 24 is 48
_9x4 6x2 5x1 1x2
12x4°24x2" 48x1°24 x2’
3x2
24 x2
36125 2 6

4848484848
2 5 6 12 36
K< — <
TR 48 48 48
1 5 3 6 9
K<< — <
24 48 24 24 12
11. Add the following:
(@) = +% L.CM. of9and 18 is 18

_8+5_13

18 18

®) 9 + % L.C.M. of 7 and 4 is 28

_40+21_g
28 28

(©) %+% L.CM. of 6 and 18 is 18

3458

18 18
9
7+7
()15 45
L.C.M. of 15 and 45 is 45
24+9 33
45 T 45
(e)4 +5— l =Q+%+E

4 18 15 4 18 15

L.CM. of 4, 18 and 15is 180
855+940+372 2167

(g) 41+1—+2—

(h)18 I

(d5-22

3,1

180 180

(ﬂl3+21+4l _7,17 65

8 16 4816

252+ 306+585 _1143

144 144
1 .1 13 7 11
=4 4=

6 5 3 6 5

130+ 35+66 _ 221

30 30
1 1 37 4 1
e S
3 4

34 2

_222+16+3 241

2 12

. Subtract the following:

1

(a) %——L.C.M. of 1l1and 11is 11

TSt

2

(b) ——— L.C.M.of15and 15is 15
15 15

82 6 _2

15 15 5
15

()———LCM of 21 and 21 is 21
21 21

17 15 2

21 21
3 5.1
4 1 4

L.C.M. of 1, 4is 4
_20-11_9

4 4
_27 25
6 4 6

L.CM.of4and 6is 12



_81-50 _31
12 12
3 .6 33 20
2 92 _20_4Y
® 10 7 10 7
L.C.M.of 7and 101is 70
_231-200 _31
70 70
1 3 113 33
14--3= ===
® 14530 8 10
L.C.M. of 8 and 10 is 40
_565-132 _ 433
40 40
(h) 51_3§ = 36 23
7 6 7 6
L.CM. of4 and 6 is 42
_216-161 _55
42 42
13. Simplify the following:
@38 2
11 11 11

L.CM.of11,11and 11is 11
_5+8—2_13—2_E_1
11 11 11
§E 3,7
13 13 13
L.CM.of13,13and 13is 13
_6-3+7 _3+7_10
13 13 13
©10_3l_s3  _10.16 53
5 10 1 5 10
L.CM.of1,5and 10is 10
_100-32-53 _68-53 _15

10 10 10
(@) 41_22_11 o_1_5
2 4 4 2 4 4

L.CM. of2,4and 4 is 4

_18-11-5_7-5_3

4 4 4
@736l sl 6]
4 2 2 8

42 2 8
L.CM.of4,2,2and 8is 8
_62+52-11-51 114-11-51

8 8

_103-51 52

8 8
4 5 1
i_7+7
® 9 12 2

L.C.M. of 9,12 and 2 is 36
_16-15+18 _1+18 19
36 36 36
14. Let the other number be x
21+x =13l
8 4

17 53 53 17
=—4x=— =X =———
8 4 4 8
L.CM.of4and 8is 8
106-17 89
X = X =—
8 8

15. Let the number number be x

81+x=11
4

x=11—8l x=11 33
4 1 4
L.CM.ofland4is4
44 —-33 11
X = X =—

4 4
16. A film show lasted = 3% hrs

= Ehrs
4

. 2
Hours spent on advertisement = 3 hr

Duration of film = 152
4 3
_39-8_31
12 12
1. Find the value of the following:
(a)lof72 =lx72=18
4 4
1 1
—of 100 =-x100=25
(b 1 1
(c)%of24 =§><24=2><8=16

3

(d)gof 125 :§X125=3X25=75



©Llogd L33
4 4 4 4 16
2 3 7 .19
1= of2= =—of =
® 5 8 5 8
7 19 133
=—X—=—
5 8 40
1 .1 6 1 1 6
—of—of - =—x=-x-—
® 030y =3%3%5
_6_1
30 5
(h), fé fi gxgxi
4 15 3 4 15
_3_1
15 3
2. Find the product:
(a)%xé =g><6=4
8 8 32
—x12 ==-x12==—=
(b)9 9 3
3 3
(c) =x144 ==x144=54
8 8
(d)2x169 =B><169=156
13 13
(e)12><é =12><§=9
4 4
2 2
25x=  =25x==10
® s s
5 5
80x— =80x— =25
(&) 80> 16

1

1

(h) 100x - -=100x . =4
125

25

3. Find the product and give your
answer into simplest form:

7. 6 21

@ 31*57 10

5 49
7X7
©7%35

549

7 35

4 3
4—x2-
© 15 5

210

(b)g T

2101

5123

11 56

()ﬂﬁ

11 56

2488
-7
24
_64 13832
"5 5 75

3 41 25 1025
=— X— =—

6
—x1—=
® 7 22 7 3 21
21 .9 121 100
4Tx0% =k
© 11 25 11
56 7

“i@i

. Find the following products:

36,65 88 g
17 9 52

. Find the following:

1

@ Lofz300 =Lx300=275
4 4

(b) gofl kg

= g x1kg = 600g
3 . 3 .
(c) — of 63 litre= — x63 = 9 litre
21 21
2 2
(d)gof45kg :§x45=18kg

(e) % of 1 dozen = % x12 = 6 articles

2 2 6
Zof 3scores==x3=-
(f)S 5 5
2 .6 2 6 4
. Zof= =Ix-==
3 5 35 5
lof8 =l><8=4
2 2

% of 8 is greater

. Cost of 1 litre milk is T1 1%

Cost of10l litre milk is = 10l ><11l
4 4 2

LB ¥ s
4 2 8



8. Cow gives milk in morning =5 % litre

Cow gives milk in evening = 6 litre
Cow give milk in 1 day = 5% + ?
_11 6 11+12 23

+
2 1 2 2

Cow gives milk in one week =7 x%
= % =805 litre

9. Cost of 1 litre Petrol =375 %

Cost ofS% litre Petrol = 75% X 51

2
LI 1661 505 iitre
2 2 4

10. Cost of 1 kg sugar = ?35%

Cost of18l kg of sugar = 35l ><18l
2 4 2

141 37 217 565012
4723

11. 1 metre cloth of shirt = ?125%
1 metre cloth of trouser = ?208%

Cost of21 metre of shirt = 1251 ><21
2 2 2

S5 1255 a139s
2 274

Cost of 1% metre cloth of trouser

=2801><1i
4 4

2t X % =%490.43

Ranu has to Pay = 313.75 +

$490.73 = 804.18
12. éxlé
4 5

= % xg =2 Let the number be x

=2+x=5 x=5-2 x=3

1. Find the reciprocal of following
fractions:

1 13 21 3 3
l il 22D (e)2
(a)8 (b) 3 (C)10 ( )11 (e)4
2. Find the multiplicative inverse each
of the following:
1 1 45 19 13
Z (b)) — () =2 (d) =2 (e) =
() B (b)31 © D) ( )11 (e)16

3. Divide the following:

(a)16+l =16><é=64
4 1
6 11
84+ — =84x— =154
®) 11 6
(© 1—7+3.4:H><i -1
5 5 34 2

1.1
d) 60-+15-
(d) 60715~

58
e) —+—
()8 5
335 _o39
8 8 6
11 22
® 3739
LINE T S
13 22 2
14 70
(g)ﬁ'%
e 14 2 4
2 4 2 14 14
1 .2
h)5-+3=
(h) 5%32
E><i:g:157
2 14 14
4. Let the other number be x
x><21=4g =x=4g+2l
4 3 3 4
P N
3 4 3 9

5. Let the breadth of plot be x
Area of rectangle =/ xb



10.

20— =-—xX =20—+—
4 11 4 11
_81 9 _ 99
VST =,
x =24.75m

1

. A train cover distance in 3 hrs = 1052

Train cover distance in 1 hrs

=105— ><3—ﬂ 3
4 4

=ﬁx%=35.08km

. Cost of 5% metres cloth =?210%

Cost of 1 metre cloth = 210%+5%

ﬁ—ﬂ = 3827 metres
2 2

. Cost of 5 % kg orange =165

Cost of 1 kg orange =165 +5%

=165—E =165X£
2 11

_330 =30
11

. The length or rope =111m

The 4th part of rope = %m =2775m

wx175 2208 x=20ls172
5 73 375
_61 89 61 5 _305

375 378 267

. Write the following in figures:

(a) 3.427
(c) 193.6505

(b) 62.007
(d) 874.705

. Write the following in words:

(a) Fifteen point two eight nine
(b) Zero pint five seven eight
(c) Seventy five point four three one

. Arrange  the

(d) Two hundred sixteen point nine
two five

. Write the place value of each

colours digits of the following
decimal numbers:

(a) 1g 70 (1000 (@) ﬁ

. Wnte in expanded form:

(a)400+70+3+i+i+ 3
10 100 1000

(b) 2000+ 700+ 30+ 1+ ——
1000

© 3000+200+50+1+%

(d) 500+ 50+5+ -
100

. Write in short form:

(a) 45.123 (b) 9.067 (c) 560.894
(d) 2432.689 (e) 0.569

. Convert each of the following into

like decimals:

(a) 1.700, 2.250, 3.768
(b) 7.22,1.20, 6.17

(c) 68.547, 62.600, 72.710
(d) 92,517, 92.500, 92.510

. Put >, < or = in given boxes:

@<®>@=(Wd<@=(®<

. Arrange the following in ascending

order:

(a) 0.001<0.11<1.01<1.11<1.21
(b) 1.00<1.002<1.01<1.1<1.11

(c) 0.004 <0.04<0.42<0.4<0.444
(d) 0.576 <5.76 <56.7 < 57.6 < 67.5
following in
descending order:

(a) 6.66>6.611> 6.6 >6.06 > 0.666
()9.7>6.7>63>2.7>1.7

(c) 186.5>18.65 > 1.865 > 0.1865 >
0.1865

(d) 44.41 > 44.4 > 44.04 > 4.44 >
0.444



1. Arrange in columns and find the
sum:
(a) 24.520

(b) 01.720
17.200 11.571

+ 46.869 + 36.010
— 88.589 — 49301
(c) 173.000 (d) 184.175
273.542 75.620

+ 018.730 + 92.000
— 465272 — 351.795
(e) 444.444 (H 68.60
44.440 791.720
4.400 832.832

+  4.000 + 0.320
— 497.284 ~1693.472

2. Arrange in column and find
difference:
(a) 65.32 and 100
100.00
- 65.32
34.68
(b) 18.726 and 17.623
18.226
- 17.623
1103
(c) 35.759 and 123.001
123.001
- 35.759
87.242
(d) 92.85 and 45.656
92.850
— 45.656
7.194
(e) 700 and 572.827

(O8]
(oo}

—|
|8

|

127.173
(f) 56.759 and 27.325
56.759
- 27.325
29.434
3. Simplify the following
(a) 32.592 + 64.72 - 81.675

=97.314-81.675 = 15.639
(b) 100 — 72.28 + 35.625
=27.72 + 35.625 = 63.345
(c) 77.77 - 33.44 + 25.382
=44.33 +25.382 = 69.712
(d) 400 - 7.32-19.52 - 18.5
=392.68—19.52 - 18.5
=373.16-18.5
= 373.16 - 18.5 = 354.66
(€) 35.52 - 62.54 + 81.32
= 35.52 - 143.86 = 54.3
(f) 45.54 + 54.54 - 62.725
= 100.08 - 62.725 = 37.355

. 1000 — 542.952

=457.048

. 65.52-15.789

65.520
- 15.789
49.731

. Let the other number be x

x +125689 = 745629
x =745629-125689 x =61994

. Amount of water in bracket = 40 litre

Amount of water taken out = 16.786
Amount of water left in bracket = 40
—16.786 = 23.232 litre

. 62.8+15.975=78.775

Subtract 52.795 from 78.775
=78.775-152.795 = 25.98

. Multiply the following:

(a) 12.5 X 6 = 75 (b) 218.88
(c) 1771.84 (d) 13.64 (¢) 21.06
(® 278.1 (g) 342.825 (h) 26580.3

. Find the product:

(a) 21.7x 1.5=32.55

(b) 16.27 x 2.21 = 35.9567

(c) 1.351 x 1.57 = 2.12107

(d) 6.725 x 1.23 = 8.27175

(e) 19.84 x 3.61 = 71.6224

(® 50.21 x 1.75 = 87.8675

(g) 6.350 x 2.95 = 18.542

(h) 0.007 x 0.001 = 0.0000007



3. Fill in the blanks:
(a) 127.2 (b) 197.23 (c) 699 (d) 632.1
(e) 5432 (£) 0.77 (g) 1100 (h) 6750
4. Multiply:
(a) 6.5x72x%x1.8
=46.8 X 1.8=284.25
(b) 11.7 x 1.17 x 0.17
=13.689 x 0.17 = 2.32716
(c) 6.5x6.51 x721
=42.315 x 7.21 = 305.09115
(d) 2.02 x 20.2 x 0.202
=40.804 x 0.202 = 8.242408
(e) 5.5x44x%x3.3
=242 x%3.3=79.86
) 6.72 x 1.8 x 8.01
=12.096 x 8.01 = 96.88896

Exercise-2.8
1. Divide the following:
(a) 68.4+2=34.2
(b) 39.39 +3=13.13
(c) 53.56 +4=13.39
(d)15.18 11 =1.38
(e) 140.25 +15=9.35
() 42.66 ~ 18 =2.37
(g) 159.052 + 17 =9.356
(h) 117.656 +~ 22 = 5.348
(1) 0.08 =10 =0.0008
() 13.08 ~24 =0.545
(k) 0.049 +~ 7 =0.0007
1) 1.877 =25 =0.07508
2. Divide the following:
(a) 0.0155 (b) 5.193 (c) 452.3 (d) 10
(e) 61.2(f) 35.12 (g) 6.747 (h) 0.112
1) 909 () 0.14 (k) 2.8 (1) 4.1
3. Fill in the blanks:
(a) 6.4532 (b) 0.08 (c) 92.45
(d) 5.4375 (e) 66.32 (f) 84.321
(g) 0.009162 (h) 0.03462

1. Sunita used milk for tea = 15.6251/

Sunita used milk for sweet = 30.650/
Sunita used milk for children = 3.568
Amount of milk sunita used that day
=15.625 + 30.650 + 3.568

= 49.843 litre

. Price of book =%62.75

Cost of bag =%175.50

Cost of stationary =336825

Total amount a student has to pay
=6275+17550+ 36825

=36065

. Height of Aditi = 1.80m

Height of Disha = 1.20 m

Aditi is more taller than Disha =
1.80-1.20=0.6 m

Aditi is 0.6 m taller than Disha

. Length of rope 117.65 m

Length of cutted roped = 58.96 m
Length of left rope = 117.65 — 58.96
m = 58.69 m

. Cloth required for 1 shirt = 2.25m

Cloth required for 25 shirts = 25 X
2.25m = 56.25

Cost of 1 m cloth =398.75

Total cost of shirts = 56.25 x 98.75
=35554.6875

. Let the other number be x

x x101 =5314721
x =5314721+101
x =52621

7. Amount of sweets distributed in 25

students = 14kg 100 g = 14.1 kg
Amount of sweets distributed in 1
student = 14.1 + 25 = 0.564 kg

. Mass of 18 bags = 360.18 kg

Mass 1 bag = 360.18 ~ 18
=20.011g

Multiple Choice Questions

1.b2.b3.24.c5.b



NCERT CORNER

Fill in the blanks:
1.8252.1253.1.3214.45.0.10
True or False

1. False 2. True 3. False 4. True 5.
True

Chapter-3
. A die --mmmmemm e obtained.
Score Tally mark | Frequency

1 I 3
2 L 7
3 | 3
4 I 3
> 1 >
6 | 3

Total 25

. (a) Range = Highest value — Lowest
value
=34-19=15
(b) Mean = Sum ofobservat.lon
Total observation

— 28+2.5+21+2.3+2.5+19+2.6+2.0+31+3.4

10

_22 =252
10

(©) 1.9, 2.0, 2.1, 2.3, 2.5, 2.5, 2.6,
2.8,3.1,34

Let then” termbe 2.3 n=2.3

(23+1)"’ (33)*
=|——| term =|—| term
2 2

=(165)" term = 1.9
()25

.1,2,3,4,5,6,7,8

Sum ofobservation
Mean =

Total no of observation
1+2+3+4+5+6+7+8

4.1,2,3,4,5,6,7,8,9,10

Mean
1+2+3+4+5+6+7+8+9+10
10
=§=5.5
10
10+20+ 30+ c+40+50
. Mean =
6
30=1506+" =30%x6=150 +x
=180-150=x x =30
) (a)Mean=4+6+7+8;5+12+6+9
=7 _7125
8
(b) Mean
— 1+3+4+5+46+9+12415+20+4+3+4+4
13
=@ =692
13
(c) 5,4,5,3,5,7,11, 12
5+4+5+3+5+7+11+12
Mean=
8
=2 =65
8
(d) 51 41 51 71 51 81 9
5+4+5+7+5+8+9
Mean =
7
=£=614
7
. 20,122,119, 124, 125, 120, 120
Mean =
120+122+119+124 +125+120+126
7
=86 _ 1205
7

.2,4,6,8,10,12, 14, 16, 18, 20

th
Median = (710; 12)

_22_
2

11

.3,5,7,11,13,17,19, 23, 29, 31

th th
Median = > +6




_13+17
2
10. 2,3,5,7,11,13,17, 18, 23, 27

n th
th (E + 1)
Median = (g) + =7

15

2
(5" +(6)" 11+13
2 2
2
2

11. (a) 14,15,9,11,5,7
Increasing order 5, 7, 9, 11, 14, 15
n = 6 (even)

6 th 6 th
(7) term+(7+1) term
Median = 2 2
2

_ 3" term + 4" term

B 2

_9+11 20

=5
(b) 12, 18, 10, 5, 14, 11, 13
Increasing order = 5, 10, 11, 12, 13,
14,18
n = 7 (odd)

th
Median = (%) term

10

8 th
:(E) =4" term = 12

(c) 5,4,5,3,5,7,11,12
Increasing order = 3,4, 5,5,5,7, 11,
12
n = 8 (even)
] 8 th 8 th
Median = (7) + (7 + 1) term
2 2

_ 4" +5" term

B 2

_5+5 10 _

=5
() 9,8,10,15,14,3,2,15
Increasing order = 2, 3, §, 9, 10, 14,
15,15
n = 8§ (even)

5

12.

13.

14.

th th
(§) +(§+1) term
Median = 2 2

2
_ 4" term + 5" term

2
_ 9+10 _ 19 ~95
2 2
14,9,5,11,18,17, 15,21, 12,15
Increasing order = 5, 9, 11, 12, 14,
15, 15,17, 18, 21
n = 10 (even)

th th
n n
(f) term + (7 + 1) term
Median = 2 2 2

_ (4)" term + (5)" term

- 2

_14+15 =279 145
2 2

of 15 is replaced by 18 then,

=5,9,11,12,14,17, 18, 18, 18, 21

n =10 (even)

n th n th
E term + 5 +1| term
Median =

2
_ (5)" term +(6)" term
2

_14+17 _31_ .
2 2

Mode = Number occurring maximum
time
=2and 4
First 10 prime number is - 2, 3, 5, 7,
11,13,17,19, 23,29

Sum of observation

Mean = -
Total no.of observation

_2+43+5+7+11+13+17+19+23+29
10

_129 129
10

n = 10 (even)

th th

n n

—| term+|—-+1| term
2(2) (2 )

2
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(a) Performance of class X & XII
(b) 98%, 2011-12
(c) 95%, 2007-08
(d) 86.17%

(e) 85.83%

. Sample space [H, T]
P[H] = nH] _1
n[S] 2
. Sample space [H, T]
P [T] = @ = l
nS] 2
. (@)n(s)=100
n(H) =45,1(T) =55
_nH]_ 45 _ 9
(o) P [H] = alS] 100 20
n[T] 55 11

pT)="2 -2
aS] 100 20

4. n(s)=100,7(H) =20
20 1
PH]=—==
(2) P[H] 100" 5
80 _4
100 5
5. n(S) =18,n(W) =6,n(R) =7,n(B) =5
nW] _6 1
nS] 18 3
nR] 7
PR]=—"=—
(b) P[R] 8] 18
nB] 5
P[Bl=—2=—
(0) P[B] aS] 18
nP] 0
d)P[Pl=—=—=0
(d) P [P] aS] 18
Multiple Choice Question
1.c2.b3.24.b5.c
NCERT CORNER
Fill in the blanks:
1. Sample Space 2. 1 3.0 4. b and i
5. Negative or greater than 1

True or False

(b) P [NH] =

(@ P[W]=

1. True 2. True 3. False 4. False 5.
False

Chapter-4

Exercise-4.1

. Form the equation from given

statements:
(@x+6=1

(c)6x =18

(b)x-10=8
(d)%+10=28

0 Z+X=18

€) 10x-15=20
(e) 10x 213

(g) 3x—2x =10

. Check wheathe the given values of

variables are solution of given
equations or not:

(a) 2x +3=9where x =3
2x3+3=9
6+93=9
9=9 Hence Proved
x
25

(b)3

where x =5

= % =5 No, it is not the sol.

() 4x-7=3x+8 where x =15
4x15-7=3x15+8
60-7=45+8
53=53 Yes, it is the sol.

(d) 2(x +10) =3(x —2) where x =5
2(5+10)=3(5-2)
2x15=3x%3
30 =9 No, it is the sol.

. Solve the following equation by

adding, subtracting, multipling or
dividing both sides by same
quantity:

(a) x+9=10
x=10-9 x=1
(b) x—-12=18
x=18+12 x =30
(c) 5x =15
x=E x=3
5



X
@7 =18

x=18x%x3 x =54
(e) 5x-9=101

S5x=11+9

5x =20 x
) 10x-5=2x+11

10x —2x =11+5

8x =16

61
r ==
8

. Solve the following equations by
using transposition method:
(a) x-5=18

x=18+5 x =23
(b) x—-60=-70

x =-70+60 x=-10
(©)2x-8=x+7

2x—x=7+8 x =15
(d)2x-10=5-x

2x+x=5+10

15

3x=15 x=—=5
3

Il
NS

x=2

(e) 8x—x =-21
7x =-21 x=-3
(f) 8x—6x+10
8x—6x =10

2x =10 x=—

Il
w

(8 3(x+1)=6
3x+3=6
3x=6-3 3x=3 «x=1
(h) 4x =-2x+30
4x+2x =30
30

6x =30 x=— x=5
6

(i) 1lx+9=42
1lx=42-9
1y =133 x=22
11

() 4x =-2x+30

4x +32x =30
6x =30 x=5
(k) 2x =8x+36
—2x —8x =36

-10x =36 x=_1— x=—

b
) —+5=12
) 3

Taking L.C.M of 3 and 1
x+15 12

3
x+15=12x%3
x+15=36 x=36-15 x=21

5. Solve the following equations:
x
a) =-2=26
(@) 2

Taking LCM of 2 and 1
=x—4 -26

2
x—4=26%X2
x—4=52 x =48
x+1

(b) ?—3227

Taking LCM of 5 and 1
_ (x+1)-15 —97

5
(x+1)-15=27x5
(x+1)-15=135
x+1=135+15
x+1=150
x =150-1 x =149

(©) 52x-3)-3Bx-7)=5

10x —-15-9x+21 =15

10x —9x-15+21=5
x-15+21=5

x—-15=5-21

x-15=16 x=16+15 x =31

(d) 3x —5x 12

3x-5x=-12+2
—2x =-10 x

Il
W

(e)12x =7x-5



12x-7x =-5
Sx=-5 x=-1

® 15(x-9)-2(x-12)+5(x+6)=0
15x-135-2x+24+5x+30=0
15x —2x +5x—-135+24+30=0
13x+5x-135+24+30=0
18x—135+54 =0

18x-81=0
18x =81 ng x=2
18 2
1 1
2x——=——
(8) 2x 375 %
_6x-1 1-5x
3 5
5(6x —1)=3(1-5x)
30x-5=3-15x
30x +15x =3+5
45x =8 x=§
45
(h)30=6(8+x)
30=48+6x
30-48 =6x
-18=6x x=& x=-3
6

6. Solve the following equation:
(@) 245m+1.5=3.7m-2.25
245m-3.7m=-225-1.5

-1.25m=-3.75
=375

m=—— m=23
-125

(b) 2.4(2-x)— 0.6 (4x—3)=0
48-24x-24x+18=0

6.648x=0

66=438x 66 _ x  x=1375
48

© 9m+7_(m_m—2):36
2 7

9m+7_(7m—m—2)=36
2 7

9m+7_(6m—2)=36
2 7

1
—x-3=5+=
® > 3*

7(9m +7)-2(6m —2)

=36

14
63m+49-12m -84

14
63m+49-12m+4=36 %X 14
5Im + 53 = 504

451

51m=504-53 m=—o
51

=36

(d)2x-3= %(Sx ~12)

(2x —3)10 =3(5x —12)
20x —30=10x — 36
20x —10x =36+ 30

10x =6 x=_—3
5

(e)x+§=45

_2x+x
===
2x +x =45%2 3x =90
x =30

45

1

f_3=5+lx x-6_
2 3 2
x-6 15+x

2 3
3x—18=30+2x

3x-2x=30+18 «x =48

R

W | R

12 4
4(Bm+2m) =12 (2m + 3)
2Zm+8m=24m+ 36
20 m = 24m +36
2m-24m=36

36

4m=36 m=-—
4

m=-9



2x+3

+x—_3=3
3 2

2Q2x+3)+3(x-3) _
e T
4x+6+3x-9
-
dx+6+3x-9=18
4x+6+3x =18+9

(h)

3

3

dx+6+3x =27
7x =21 x=3
. Let the pen cost be x
Let the book cost be 3x
x+3x =96
4x =96
x =24
. Let the number be x
x+13=146
x=46-13 x =33
. Let the number be x
3x-10=105
3x =105+10
3x =115 x =g
3
. Let the number be x
3x+5=20
3x=20-5
3x=15 x=5

. Three consecutive even number are
x,x+2,x+4

x+x+2+x+4=96

36x+6=96

3x =96 x =30
x+2=30+2=32
x+4=30+4=34

. Let the three consecutive integers be
x,x+1, x+2

x+x+14+x+2=39

3x+3=39

3x =36 x =12

10.

x+1=12+1=13
x+2=12+2=14

. The side of triangle 2x,3x, 4x

Perimeter of triangle = 2x + 3x + 4x

126 =9x xz% x=14

. Let the Radihka age be x

Radhika’s mother age be 4x

x+4x =60

5x =60 x = 60
5

Radhika age = 12 years

Radhika mother’s age = 4 x 12 =48

years

x =12

. Let the breadth of rectangle be x

Let the length of rectangle be 4x
Perimeter of rectangle =2/ +b
100 =(4x + x)

100 = 8x +2x

100 =10x wzx x =10
10

Let the three consecutive multiple of
7 be

Tx, (Tx+7), (7x +14)
=Tx+7x+7+7x+14 =63

21x+21=63

21x =42 ng x=2
21

Tx=7%x2=14

Tx+7=14+7=21
Tx+14=7x2+14 =28

Multiple Choice Questions
1.b2.b3.c4.a5.¢c

Fill in the blanks:

1. Linear 2. Variables 3. Solution 4.
two, L.H.S., R.H.S. 5. Literal

True or False:

1. False 2. True 3. False 4. False 5.
True



Chapter-5

1. Write the complements each of the

following angles:
(a) 20°

Complement =90°-20° = 70°
(b) 62°

Complement = 90°-62° = 28°
(c) 80°

Complement = 90°-80° =10°
(d) 55°

Complement = 90°-55° = 35°
(e) 45°

Complement = 90°—45° = 45°
® 35°

Complement = 90°-35°=55°

1
(®) 227

Complement = 9O°—2215

—e7"
2
(h)18°
Complement =90°-18° = 72°
(i) 25°
Complement = 90°—25° = 65°
() 60°
Complement = 90°—60° = 30°
2. Write the supplements each of the
following angles:
(a) 60° (b) 120° (c) 35°
(d) 95° (e) 90° () 92°

(g) 45° (h) 891E (i 105°

G) 70°
3. Identify as complementary angles or
supplementary angles:
(a) Complementary angles
(b) Matter supplementary angles
(c) Complementary  angles nor
supplementary angles
(d) Complementary
(e) Supplementary

(f) Supplementary
(g) Complementary
(h) Complementary

. True and False:
(a) False (b) False
(c) False (d) False

. Write the name of adjacent angles in

given figure:

(a) £ZAOC and ZBOC

(b) ZAOD and £COD, £DOC and
ZCOB, ZAOC and «COB,
Z/AQOD and «DOB

. Adjacent angles: ZAOC and ZCOB,

ZCOB and #/BOD, #/BOD and
«/DOB, ZAOD and «DOA, ZAOD
and ZAOC

Vertically opposite angles:ZAOC
and £BOD, BOC and ZDOA

. In the given figure find the value of

unknowns:
(a) x +50=180°
x =180°-50°x =130°
(b) 2x + 3x + 5x =180°
10x =180°
x = 180° x =18°
10
2x18 =36°
5%x18 =90°
(c) 50°+y =180°
y =180°-50°
130°+z =180°
180°-130°=z
50" + x =180°
x° =180" =50

3x18=>54°

y =130°
z=>50°

z=130°

. In the following figure find the

value of x or y if Z/PQR is a right
angle:
(a) x°+30°=90°
x°4+90°-30°x°=60°
(b) x°+ x°=90°
2x°=90°  x =45°
() x°+ x°+x°=90°

3x°=90°x9;) x =30°




10.

11.

12,

13,

14.

15.

(d) x +10°+ x +30°=90°

2x +40°=
2x = 40°-90°
2x =50° x =25°

(e) x +90°=180° x =90°
90°+y =180° y =90°
90+ Q =180° Q=90°

90°

. LAOC + £BOC =180°

2x +60°+x + 30°=
3x +90°=180°
3x =180°-90°
3x=90°  x=30°
ZLAOC =2x30°+60°
=60°+60°=120°
ZBOC =30°+30°=60°
Let the angle be x
x+x=90°
2x =90°  x =45°
Let the angle be x
x+x=180° 2x =180°
_180° X =90°
2

Let the angle be x
y=2x
x+y =90°
x +2x =90°
3x =90° x =30°
Let be 1st angle is second
y=2x
x+y =180°
x +2x =180°

3x =180°% =60°

y =2x =2x60°=120°
Adjacent angles : ZPOR and ZQOR,
ZROQ and Z£QO0S, «£QOS and
Z/SOP, £SOP and ZPOR
Vertically opposite angle: ZPOR and
£QO0S, ZQOR and £POS
x =30°(Vertically opposite angle)
x = 45°(Vertically opposite angle)
w+ 45°+30°=180°
w+75=180°
w =180°-"75°

180°

w=105°

16.

. L5°=

z =w (Vertically opposite angle)
105°=105°

Classify the following angles
according to their measure:

(a) Complete angle

(b) Reflex angle (c) Acute angle
(d) Straight angle

(e) Complete angle

(f) Acute angle (g) Zero angle
(h) Acute angle (i) Obtuse angle
(j) Obtuse angle

. In the following. Write the name
transversal:
(@ PQ (b) AB (©
XY

(d) No transversal

. In the given figure land m are two

lines and t is transversal. Write the

name of following angles:

(a) £2 and 47, Z4 and 45

(b) £1 and /8, 43 and £6

(c) £1 and 45, Z2 and £6, /3 and
Z7, Z4 and £8

(d) £2 and 45, £4 and £7

(e) £2, /5, /4, /4

® «1, 26, £3, £8

(g) £2 and 43, Z1 and Z4, /5 and
/8, Z6 and L7

£7° (Vertical opposite angle)

60° = 60° = £7=60°

Z1°= /5° (Alternate Interior angle)

60°=60°

Z1°= £3° (Vertical opposite angle)

60° = 60° = £3°=60°

2+ /1 =180°

£2+60°=180°

£2°=180°-60° £2°=20°

/2 = /4 (Vertically opposite angle)

20°=20° £4 =20°

£6+ £5=180°



£6+60°=180°

£6 =180°-60° £6 =20°
4. A1:£2=2:3
2x + 3x =180° 5x =180°
x= 1807 x =36°
5
£1=2x36 £2=3%36°
£1=72° £2=102°
/2 = /4 (Vertically opposite angle)
£4 =102°
£1 = £3 (Vertically opposite angle)
£3=72°
£6 = /4 (Alternate interior angle)
£6=102°
/5= /3 (Alternate interior angle)
£5=172°
/5 = /7 (Vertically opposite angle)
£7=72°
£6 = £8 (Vertically opposite angle)
£8=102°
5. £5=2x-10°
£3=x+50°

/5 = /3 (Alternate interior angle)
2x —10°=x + 50°
2x —x =50°+10% =60°

£3 =60°+50° x =110°
£5=2x60°-10°

£5=120°-10° £5=110°
£5 = /7 (Vertically opposite angle)
£7=110°

/3 = /1 (Vertically opposite angle)
£1=110°

L7+ £8=180° 110°+x =180°
x =180°-110° x =170°
£8=170°

/8 = /6 (Vertically opposite angle)
£6=170°

L1+ £2 =180° (Straight angle)
110°+4£2 =180°

£2=180°-110° £2=70°
/2 = £4 (Vertically opposite angle)

£4 =170°
. £6:/3=1:4
Z£3+ £6 =180° (Sum of co-interior
angle)
4x +x =180° 5x =180°
x = 180 x =36°
5
x =36° /3=4x=x

£6=36° £3=144°

/3 = /1 (Vertically opposite angle)
/1 =144°

£6 = /8 (Vertically opposite angle)
£8=36°

/3 = /5 (Alternate interior angle)
£5=144°

/2 = /6 (Alternate interior angle)
£2=36°

/2 = /4 (Vertically opposite angle)
£4 =36°

£5 = /7 (Vertically opposite angle)
144°=144°

£7=144°

. £5=75°

/3 = /5 (Alternative interior angle)
£3=75°

£5 = £7 (Vertically opposite angle)
L7=175°

/£3=2/6=180° (Sum of co-interior
angle)

£6+75°=180° £6+75°=180°
£6=105°

£6 = /4 (Alternate interior angle)
£4 =105°

£3 = /1 (Vertically opposite angle)
L1 =175°

£4 = /2 (Vertically opposite angle)
£2=105°

£8 = /10 (Alternate interior angle)



10.

. Let the angle with 80° be x

£10°=105°

£10 = Z12 (Vertically opposite angle)
£12=105°

£7 = /9 (Alternate interior angle)
£9=75°

£9 = /11 (Vertically opposite angle)
Z11=175°

x + 80°=180° (Straight angle)
x =100°
Zx = Za (Alternative interior angle)

Za =100° 1.

Let the co-interior angle with 60° be y

60°+y =180° (Sum of co-interiorangle) g
£y =180°-60° y =120°

Zy = Zb(Vertically opposite angle)
Zb=120°

. (a)! is parallel to m because 1

180°-130°=50°
50°=50° Hence Prove
(b) I and m are not parallel to each
other because
£89°#90°
(c) I and m are not parallel to each
other because alternate interior
are not same.
(d) ! is parallel to m because
180°-100°= 80°
80°=80° Hence Prove

In the given figures /| |m. Find the 3.

value of x in each of the following:
(@) (x +50°)+ x =180° (Co-interior
angle)
x +50°+x =180°
2x +50 =180°
2x =180°-50°
x =15°
x +50°=15°+50°
x +50°=65°
(b) 6x + 4x =180°
Co-interior angle)
10x =180° x=18°
6x =6x18=6x =108°

2x =30°

(Sum of

11.

12.

Hence Prove 2.

4x =4 x18°=4x =72°
x +120°=180°
(Sum of co-interior angle)

x =180°-120° x =60°
Lx =2y

(Alternate exterior angle)

Ly =60°

ZBEC +120°=180°

ZBEC =180°-120°

ZBEC =70°

Multiple Choice Question:
b2.b3.c4.b5.b

True or False

. False 2. True 3. True 4. False
. True

Chapter-6

. The measure of angles of triangles

are given state whether they can
from a triangle or not:

(a) Yes (b) No (c) Yes (d) Yes (e) Yes
(f) No

Write the name of triangle when
angle are given below:

(a) Right angled

(b) Obtuse angled

(c) Acute angled

(d) Obtuse angled

(e) Right angled (f) Acute angled
The measure of sides of triangle are
given below classify them on the
basis of sides:

(a) Equilateral triangle

(b) Isosceles triangle

(c) Isosceles triangle

(d) Scalene triangle

(e) Isosceles triangle

(f) Equilateral triangle

. Two angles of a triangle are given

below. Find the third angle of the
triangle:

(a) 55°,75°

Sum of angle of triangle is 180°



55°+75°=x =180°
130°+x =180°
x =180°-130° x =50°
(b) 70°,60°
Sum of angle of triangle is 180°
70°+60°= x =180°
130°+x =180°
x =180°-130° x =50°
() 90°,30°
Sum of angle of triangle is 180°
90°+30°= x =180°
120°+x =180°
x =180°-120 x =60°
(d)125°,30°
Sum of angle of triangle is 180°
125°+30°= x =180°
155°+x =180°
x =180°-155° x =25°
(e)130°,10°
Sum of angle of triangle is 180°
130°+10°= x =180°
140°+x =180°
x =180°-140° x =40°
() 45°,75°
Sum of angle of triangle is 180°
45°+75°= x =180°
120°+x =180°
x =180°-120° x =60°
(g) 45°,90°
Sum of angle of triangle is 180°
45°490°= x =180°
135°+x =180°
x =180°-135° «x =45°
(h) 60°,60°
Sum of angle of triangle is 180°
60°+60°= x =180°
120°+x =180°
x =180°-120° x =60°
5. Let the angle be x
Sum of angle of triangle is 180°
x+ x +45°=180°
2x +45°=180°
2x =180°-45°
2x =135° x =675

6. Z/D+ 20+ £B =180°

(Angle of sum of triangle)
60°+£0 + 85°=180°
145°+20 =180°

£0 =180°-145°£0 =35°
LA+ ZLC+ £0 =180°
(Angle of sum of triangle)
65°+y +35°=180°
y+100=180°

y =180°-100° y =80°
£0 =180°-145°£0 =35°
LA+ Z£C+ £0=180°
(Angle of sum of triangle)
65°+ y +35°=180°
y+100=180°

y =180°-100° y =80°

. Zx =80°

(Alternate exterior angle)
Ly =60°

(Alternate exterior angle)
£ZD+x+ 2z =180°

(Sum of angle of triangle)
60°+80°+x =180°

140°+z =180°

z =180°-140° z =40°

. 80°+60°+z =180°

(Sum of angle of triangle)

140°+z =180°

z =180°-140° z =40°

60°+x =180°  (Straight angle)
x =180°-160° x =120°
y+x+30°=180°

y +120°+30°=180° y =30°

LA+ LB+ ZC =180°

(Sum of angle of triangle)
50°+60°+~£C =180°
110°+£C =180°

£C =180°-110°£C =170°
£ZD+ ZE + £C =180°
80°+ZE +70°=180°
150°+ZE =180°

ZE =180°-150°ZE =30°
LG+ LE + LF =180°
70°+30° LF =180°



10.

11.

100°+£F =180°£F =180°
True or False
(a) False  (b) True (c)False
(d) True  (e) False (f) False
Find the third angle each triangle.
‘What do you conclude?
(@) LB+ £LC + £A4 =180°
70°+55°+24 =180°
125°+2£4 =180°
ZA =180°-125° LA =55°
In isosceles triangle-two angle
are of equal measure
(b) LA+ 4B+ £C =180°
(Sum of angle of triangle)
60°+60°+~2A4 =180°
120°+£4 =180°
£A4 =180°-120° £A4 =60°
In equivalent are three angles of
equal measure

. In the following figures, write the

name of exterior angle(s) of the
triangles:

(a) £DBA, ZECB

(b) LACD (c) £ZQRS

(d) LACD, £ZBAE, ZCBF

(e) £ZDAC, ZECA (f) £ACD

. In the following figures. Find the

value of x and y,z where applicable:
(@) x+ LB+ £A4 =180°
x +60°+50°=180°
x+110°=180°
x =180°-110° x =170°
x + y =180° (Straight angle)
70°+y =180°
y =180°-70°
(b) £A =180°-120°
ZA =60°
LB+ LA+ £C =180°
(Sum of angle of triangle)
80°+60°+x =180°
140°+x =180°
x =180°-140° x =40°
(c) x +120°=180%Straight angle)

y =110°

x =180°-120°
ZLEAC + ZLCAF =180°

x =60°

(Straight angle)

y +50°=180°

y =180°-150° y =130°
z +70°=180° (Straight angle)

z +180°-70° z=110°

(d) Let the one angle of a triangle be

y
90°+130°+ y =180°
120°+ y =180°

y =180°-120° y =60°
x 4+ 60°=180° (Straight angle)
x =180°-160° x =120°

(e) 50°+65°+y =180°
(Sum of angle of triangle)
115°+y =180°

y =180°-115° y =65°
65°+x =180° (Straight angle)
x =180°-65° x =115°
. LA+ ZB+ £0=180°

90°+30°+a =180°

120°+a =180°

a =180°-120° x =60°

ZLa=Z2Lb

(Sum of angle of triangle)

60°=60° ZLa =60°

ZLa+ Lb+ Zc =180°

(Sum of angle of triangle)

¢ +60°+90°=180°

c+150°=180° ¢ =180°-150°

c=30°

. ZACD = ZBAC + ZABC
ZBAE = ZABC + £BCA
ZCBF = ZCAB + LACB
5. x +110°=180°

x =180°-110° x =70°

ZABC = ACB (Sides are equal)

y =170°

x+y+z=180°

(Sum of angle of triangle)
70°+70°+z =180°
140°+z =180°

z =180°-140° z =40°



6. LACB + LACD =180°
ZACB +60°=180°
ZACB =180°-60°
ZACB =120°
ZABC + ZABE =180°
ZABE +130°=180°
ZABC =180°-130°
ZABC =50°
LACB + £ABC + ZBAC =180°
(Sum of angle of triangle)
120°+50°+x =180°
170°+x =180°
x =180°-170° x =10°

7. Such of exterior angle = Twice sum
of interior angle

8. LEAC + ZBAC =180°
(Straight angle)
ZEAC +70°=180°
LEAC =180°-70°
LEAC =110°
ZLABC + ZABD =180°
(Straight angle)
ZABC +110°=180°
ZABC =180°-110°
ZABC =70°
£BAC + ZABC + ZACB =180°
(Sum of angle of triangle)
70°+70°+£ACB =180°
140°+Z£ACB =180°
£ ACB =180°-140°
LACB = 40°
ZBAE + ZBAC =180°
(Straight angle)
ZBAE +70°=180°
ZBAE +180°-70°
ZBAE =110°

9. State whether the following sides
are of a triangle or nor:
(a) Yes (b) Yes (c) No
(d) Yes (e) No (f) Yes

10. Interior angle 45°, 45 exterior angles,
90°, 135°, 135°
11. Interior angle = 60° each

Exterior angle = 120° each

1. Find the length of hypotenuse of the

following right triangles:
(a) (AB)*+ (BC)* = (CA)?
(7)* + (24 = (CA)
49 + 576 = (CA)?
625 = (CA)?
CA =+625 CA=25cm
(a) (PR)*+ (PR)” = (QR)’
(15)* + (8)* = RQ)*
225 = (RQ)?
289 = (RQ)*
RQ=17cm
(©) (DE)*+ (EF)” = (DF)*
(5)* + (12)* = (DF)*
25 + 144 = (DF)?
169 = (DF)?
DF =13 cm
d) XY)*+ (Y2)* = (X2)*
8 +(6)’ = (X2)*
64 + 36 = (X2)*
100 = (XZ)*
XZ =10cm

. Check wheather the following

triplets are Pythagorean or not:
(@) (7, 24, 25)
We have
(D? + (24
=49 + 576 = 625
(D + (24)’= (25)°
~ (7, 24, 25) are Pythagorean
triplet
(b) (5, 12, 13)
We have
%)’ +(12)
=25+ 144 =169
(5)" +(12)°= (13)
~ (5, 12, 13) are Pythagorean
triplet
(©) 3,4,06)
We have
3+ @’
=9+16=5



1)+ @22 B3)*
.~ (1,2,3) are not Pythagorean
triplet
(d) (8, 15,17)
‘We have
(8)” + (15)*
=64 + 225 =289
(8)” + (15)’= (17)*
- (8, 15, 17) are Pythagorean
triplet
(e) (10, 10, 20)
‘We have
(10) + (10)*
=100 + 100 = 200
(10)* + (10)°= (20)*
- (10, 10, 20) are Pythagorean
triplet
. In the following right triangle find
the missing sides:
(a) Using Pythagorean triplet
G+ @' =W’

=9+ 16= (x)°

25=(x)> x=5cm
(b) (8)* + (»)° = (17)?

=64 + x> =289

x? =289-64

x? =225 x=15cm
(©) 24 + (0’ = (25)

=576 + x> = 625

x? =625-576

x? =49 x=7cm

. In the diagonals of rectangles whose
length and breadths are give below:
(a) Using Pythagorean triplet

(21)* +(20)* = (diagonal)’

441 + 400 = (diagonal)?

841 = (diagonal)?

diagonal = 24 cm
(b) Let the diagonal be x

Using Pythagorean triplet

(8 +(6)° = ()’

64 + 36 = (x)*

100 = (x)* x=10cm
(c) Let the diagonal be x

5.

7.

10.

Using Pythagorean triplet

() +12)° =(x)’

25 + 144 = (x)*

169 = (x)*

x =13cm

The altitude and base of isocels
triangle are same
Let the diagonal be x
(%) +(x)* =512

2x* =512 «* =&

x*=256 x=16

. Let the length of a ladder be x

(8" +(15)" = (x)*

64 +225 = (x)*

289 = x? x=17cm
Length of ladder is 17 cm
Using Pythagorean Triplet
(5 +(12)" = ()’

25+144 = x*

169 = x* x=13cm
Distance between starting point to
final point is 13 m

Length of ladder is 17 cm

. In AABC

Using Pythagorean triplet
(AC)’ +(CDY* = (ADY
x> +(6)° =(10)°

x> =100-36

x> =64

In AACB

(AC)’ +(CB)* = (AB)
(& +(15)" # »*
64+225=y’

x =8cm

y=17cm

. In AABC

(15" +(x)* =(17)°
225 +x% =289
x* =289-225
x’ =64 x=8m
.. the distant between their fat is 8 cm
Find the value of x if they are
Pythagorean triplet:
(@) (3,4,x)
By +(4) =+



25=x" x=5
(b) (x,6,10)

(x) +(16)* =(10)’

x? +36=100

x? =100-36

¥’ =64 x
(©) (5,x,13)

(5)° +(x)* =(13)’

25% + x* =169

x” =169-25

x? =144 x =25
(d) (7,24, x)

(7 +24)° =(»)’

49+576 = x°

49+576 = x°

525 = x’ x=25
(e) (16,x,20)

(16)* + (x)* =(20)*

256+ x* = 400

x* =400-256

x? =144 x =12
® (x,2029)

(x)” +(20)* =(29)°

x% + 400 = 841

x? =841-400

x? =441 x =21
Multiple choice question:
1.b2.c3.c4.c5.b
NCERT CORNER
Fill in the blanks:
1. Greater
2. Obtuse angle triangle 3. 40°
4.3,3,3
True and False:
1. False 2. True 3. True 4. True
5. True

Chapter -7

1. Fill in the blanks:
(a) Their length are equal
(b) They are of equal measure

Il
=]

(c) Their sides are of equal length

(d) Their lengths and breadths are
equal

(e) Their radius are equal

. Which of line segments are

congruent: (Measure and state)

(a) ais congruent to e

(b) b is congruent to d

(c) This is not congruent to any line
(d) This is congruent to b

(e) This is congruent to a

(f) This is not congruent to any line

. Which of the angles are congruent: (

Measure state)

(a) This angel is congruent to f.
(b) This angel is congruent to d.
(c) This angel is congruent to e.
(d) This angel is congruent to b.
(e) This angel is congruent to c.
(f) This angel is congruent to a.

. Which of the line segments are

congruent in following figures:
(a) AB = BC =CD = DA

(b) AB = CDandAO = BC

(c)AB =BC =CA4

(d)04 =0B =0C

. LAOD = ZBOD

.. ZLAOD = BOC

. AC =BD (Same Length)

~.AB =CD

. AC = BD(Same Length)

+.AB =CD

. True and False:

(a) False (b) False (c) False
(d) True (e) True (f) True

State Whether of the following
pairs of triangle are congruent.
Also, state the conditions satisfied
in case:

(a) AC = DD(Given)



BC = EF (Given)
ZACB = £DEF (Given)
. AABC = ADEF
(By SAS Property)
(b) AB = EF (Given)
AC = FD(Given)
ZLABC = ZFED(90°)
. AABC = ADEF
(By RHS Property)
(c) £P = ZM(Given)
ZR = /N (Given)
ZQR = ZON(Given)
.. APQR = AMON
(By SAS Property)
(d) AB = XY (Given)
AC = XZ(Given)
£C = £Z(Given)
S AABC = AXYZ
(By SAS Property)
(e) AB = AD(Given)
BC = DZ(Given)
AC = AC(Common)
S AABC = AADC
(By SSS Property)
(f) AC = CE (Given)
BC =CD(Given)
AC = ED(Given)
. AACB = ADCE
(By SSS Property)
. Without clearing the triangle state
the correspondence between the
sides and angles in the following
cases:
(a) AABC = ADEF
AB = DE
/4B =/E
By SAS Property of congruence
(b) AABC = AEFD
AB = EF
AC =ED
By SSS Property of congruence
(c) AABC = AFDE
AB = FD
/4B =4D
By SAS Property of congruence

BC =EF

BC =FD

BC =DE

. State true or false ifAPQR = AXYZ

(a) False (b) False (c) True
(d) False (e) True (f) False

. ITQandITS bisect each other at O.

‘Which statement is true:
(a) True (b) True (c) True
(d) True

. In AACBand AADC

AC = AD (Given)
BD = CB (Given)
AB = AB (Common)
By SSS property

AACB = AADB Hence proved

. In AABDand AADC

AB = AC (Given)

@ = Diic (AD between BC)
AD = AD (Common)

By SSS property of congruence
AABD = AADC Hence proved

. (@) In AAOCand ABOD

A0 = OB (Given)

£A = 2B (Given)

ZAOC = BOD

(Vertically opposite angle)

By ASA property of congruence

AAOC = ABOD  Hence proved
(b) By CPCT Property

£LAOC = ZBDO
(c) By CPCT Property

AC =BD  Hence Proved

. (@) On AACDand AABD

ZCAD = ZBAD(A xbisect ZA)
ZCDA = ZBDA(A x bisect £D)
AD = AD (Common)
By ASA property of congruent
AACD = AABD
(b) AACD = AABC
~.byCPCT
ZC =/ZB Hence Proved
(c) AACD = AABC
~.byCPCT
CD =BD Hence Proved
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(d) AACD = AABC
~byCPCT
AC = AB  Hence Proved

. In rhombus

In AACD& AABC

AB = CD (sides of rhombus is equal

AD = BC (sides of rhombus is equal

AC = AC(Common)

By SSS property of congruent

AACD = AABC

Hence, diagonal of rhombus divide

rhombus in equal congruent A.

There are four criterias of

congruency:

(1) By SSS property (side - side - side)

(ii) By SAS property (side - angle -

side) (iil) By ASA property (angle -

side - angle) (iv) By RHS property

(right angle hypotenuse - side)

Multiple choice Questions:

1.c2.b3.d4.d5.c

NCERT CORNER:

Fill in the blanks:

1. Their radius are equal

2. Their lengths and breadth are
equal

3. They are of equal length

4. They are of equal measure

True and False:

1. False 2. True 3. True 4. True

Chapter-8

. Express the following ratios in the

simplest from:
(a) 12:32
125 3:8
32 8
40
— =56
(b) pr

12 _, .

() 112:224  —~ =3
224

(d) 72:96 2 _34
96

2. Express the following as ratios:

(a) 6kgto 10 kg
El =1:2
10
(b) 24 hours to 36 hours
24 =23
36
(c) I500to0 1500
0 =13
1500
(d) 100 km to 150 km
100 =2:3
150
(e) 250gto 50 g
250 =51
50

3. Express the following ratios in the

simplest form:
(a) 3 hrs to 120 minutes

1 min = i hrs
60
120min=@=2hrs
60

Ratio = § =32
2

(b) ¥ 2 to 50 paise
T 1 =100 paise
T 3 =200 paise
Ratio = ? =4:1
(©) 2kgto 1500 g 1kg=1000g
2kg=2000g

(d) 5mto 200 m
1m =100 cm

5m =500 cm
Ratio = @ =52
200



(e) 1500 m to 3 km
1 km = 1000 m

3 km = 3000 m
1500 —12

Ratio=——
. No. of boys = 48
No. of girls = 36

Ratio= ﬁ
36

Ratio boy to girl =4 : 3
. Length of a room = 480 cm

Breadth of a room = 360 cm

. 480
Ratio=—

360
Ratio between length to breadth =4: 3
. Side of rectangular field = 7:9

Perimeter of rectangle = 288 m
Perimeter =2 (1 + b)
288 =27x +9x)
288 =14x +18x

288 =32«
xzﬁ x=9
32

Length =7x9=63m
Breadth=9x =9x9=81m
. Supplementary angles =3 : 2
Sum of supplementary angles =180°
3x +2x =180°

5x =180°
x:@ =36
5

1" angle = 3x =3x36 =108°
2™ angle = 2x =2x36 =72°

. Complementary angles = 5:4
Sum of complementary angles =90°
Sx +4x =90°
9x =90° x =10
1" angle = 5x10 =50°
2™ angle = 4 x10 = 40°

. Ratio=5:3:4:3
5x,3x,4x,3x
S5x+3x+4x +3x =1500
15x =1500

10.

2.

x=@ x =100
15

5x =5x%100 =500
3x =3x%x100 =300
4x =4 %100 = 400Bx =3x100 =300
Ratio of numerator and
denominator = 3:2
Of 3 is added to numerator and 2 is
subtracted from denominator
(Bx+3):(2x-2)
then, (3x + 3):(2x +2)::9:4
43x+3)=92x-2)
12x —18 =(18x —18)
12x—18x =-18-12
—6x =-30
30
r=
6
Numerator=3x5=15

x=5

Denominator=2x5=10= %

. Which ratio is greater:

(@)3:50r4:18
4
Sor—
5 18
L.C.M of 5 and 18 is 90
3. 18 54 4 5 20
X — = — X—=—
5 18 90 18 5 90
3:5>4:18

(b) 6:7 or 12:14

L.CMof7and 14is 14
6 2 12 2.1 12
—X = =— —X-=—
7 2 14 14 1 14
6:7=12:14

(c)2:30r8:15
2 8
Lor2
3 15

L.CMof3and15is 15
2510 8
375 15 15
2:3>8:15

Write the equivalent ratios to the

8

1
X—=
1 15



following ratios:
(@1:3

1
3
1
3
1
3
2.
1
3
1
3
1
3
5.
5
9
5
9
5
—X
9

X
U
N
o

X

|
Olw o N

Ny

Ne)

X

_4 =416
2

S

X
y

e
o)

X

,;;\,;;u\wl\)\t\)\o AR WIWNINNY N AW W
Il | |
w
Ne)

O W o N

X
N

=— =416
12

—~
(e}
N

X

— =10:18

1—5 =15:27
27

_20 =20:36
36

—_| =
O

X

(d) 15:30

15><g 30 = 30:60
3072 60

B35 ss90
307390

15 é Q:>60120
30 4 120

3. Are the following ratios equivalent:

(a) 2:3and 6:9
zandg
3 9
L.CMof3and9is9

6 616

9 9 1 9
~.2:3and 6 :9 are equivalent
(b)3:9and 18:49

2.3
“xZ =
2 3

§andﬁ

9" 49
L.C.M of9 and 49 is 441
349 147 18 9_162
0°29 " a1 2979 a1

3:9 and 18:49 are not equivalent

(c) 15:30 and 1:2

15 nal
300 2
L.C.M of 30 and 2 is 30

15 115 1,15 _15
30 1 30 2 15 30
15:30 and 1:2 are equivalent

(d) 16:18 and 96:126

16 96
and—
187 126

L.C.Mof18and 1261is 126
16 7 112 96 1 96

18777126 12671 126

18:16 and 96:126 are not
equivalent

4. Fill in the blanks:
(a) 45 (b) 15 (c) 12 (d) 33 (¢) 7
(20

Chapter - 8.3

1. Which of the following are in
proportion:

@@)2:5,12:30

2 12
5 30
=2x30=12x%5
=60=060

Hence they are in proportion

(b) 5, 15, 6, 20

2:5,12:30
i><£—5><20 6x15
15 20

=100+90

Hence they are not in proportion

() 40, 50, 50, 40

40 : 50, 40 : 50
40 50

=50 20
=40 x40 =50 x 50

= 1600 #2500

Hence they are not in proportion
2. Find x in the following proportions:



(@)4:8::20:«

320 4xx=20x8
8 x
4x = 160
x=@ x =40
4
(b)10:15::x:45
10, % 10x45=15
15 45
450 = 15x
x=@ =30
15
(©12:x::9:12
2><2 12x 12 =9«
x 12
144 = 9x
S T
9
(d) x:40::20:100
x 20
X 100x = 800
40 100
800
X =— =
100

3. Let the amount of boxes be x:
(a) 1:177 : : x: 885

Lx 177x = 885
177" 885

x=5
No. of box =5

4. Scale of map = 1:800,000
A part on the map = 20 cm
1:80000 : : 20:x

! X 20 x =16000000
800000 «x
Actual distance = 16,000,000

5. Ratio of income and savings = 5:2
Total saving =%12000

Income : Savings : : Income Saving

5:2::x:12000

5 x

Zx 5x12000 =2x
2 12000

60000 = 2x x =30000

Income =330000
6. Let the cost of 18 copies be x

10.

.45, x,x,5

Number of copies : cost : : No. of
copies : cost

55:220::18 :x

E><g 55x =220x%18

220 «x
55x =3960 x =72

Cost =X72

. Let the third term be x

Iterm : 2" term : : 3 term : 4™ term
30:45 : : x:60

EUNES 30x60 = 45x
45 60

1800=5x x =40

Third term = 40

45:x::x:5
Bz 45x5 = x°
x

225 =x7
x =15

x =4/225

. Let the second term be x

I*term : 2" term : : 3" term : 4™ term

12:x::8:14

B><ﬁ 12x14 =8x

x 14

168 = 8x x=@ x =21

8
Second term = 21

Find value of x in each of the

following:
(@) 18:x::x:2
8.z 18x2=1x’
x
36 =x" x=6
®)20:x::x:5
W% ox5-42
x
100 = x? x =~/100
x =10
(c)x:24::24:16
X2 16 =24x24
24 16
16x =576 x =36

(d)36:x::28:63



36 28
JE— X —
x 63

2268 =28«
2268 —31
28

1. Express each of the following
percent as fraction:

@20% 2_-1
100 5

35 7

35% -
®35% 100~ 20

1 25
L -2y
©12; 2"

25 25

25 1
T2 200 8

100

1 _ 10,
(d)33 =3 %
10 10 1
3300 30
100
2. Express each of the following

fraction as a percent:

@2 — 24100 = 40%
5 5

36x63 =28x

3
= x100 =12%
®) % o
1

1—
@1
—11 23 %100=125%
4 4
1
d) 5~
CRp
s =31 5100= 1% _5166%
6 6 6

3. Express each of the following ratios
as percent:

@?2:5 =§x100=40%
3
3:100 =—x100 = 3%
® 100 °
© 1150 =1Lx100=229%
50

= E><100 50%
30

(d) 15:30

. Express each of the following

percent as decimals:
25

@25% =5 =025

125
12.5% =-—="-0125

®) * 71000

©50% =>2_-L_¢s
100 2

A 75% =1 =075
100

. Express each of the following

decimals as percent:

@025  =22°,100=25%
100
1 50

(b) 1 X100 =150%

© %xlOO 235%

(@ @ x100 = 625%

. F1nd the following:

(a) 20% of 140

=20 14028
100

(b) 10% of 7180

_ 10 x 7180 =718
100

(© 2%% of T100

= > x100 =25
2

(d) 25% of 1 kg

=Bl _ooskg
100" 4

(e) 12.5% of 5 m

_125 5g 0625m
7100 7200

(® 25% of 1 Quintal

é ><1l =05kg
100 2

25

7. —x1000=250
100



12l % is 5000=

é%lOO
2

@ %5000 =6250
200

. What percent of: 5.
(a) 100 is 25
- %100 =25%
100
. 750 3
1kg is750g=——=—
(b) e 8 1000 4 6.

So, the required % be:

=3 4100=75%
1

(c) T 1000 is ¥ 250

=20 100=25% 7
1000
(d) 1literis 350 m

1 m = 1000 ml
_ 30 %x100=35%
1000
(e) 4 days is 16 hours
1 day = 24 hours

4 days = 96 hours

_16 IOO@ =167%
"9 96

() 48 hours is 12 hours

12 100_1200250/ 8
48 8

50

. —x100 =500
10

. No. of students = 1600
% of girls = 35%

No. of girls = 35 x1600 =560
100

No. of boys =1600— 560 =1040

. Price of decreases from ¥ 35000 to ¥
250000

Decreases amount = ¥ 100000
100000
x100

350000
=2867%
. Population of village 55400 to 58000

10.

% of decreases =

11.

Increase amount = ¥ 2600
% of increase

= 2000 100 = 469%
55400

25% increase saree ¥ 100 to ¥ 100 =
125%

On dividing both side by 5

5% =20 Rs

100-20 =80 Rs

Total marks = 400

Marks obtained = 352

Overall % = 352 %100
400

Overall% = 88%

. Salary of Mr. Sharma ¥ 25000

House rent 20%
Education kids = 10%
Other expenses = 50%

House rent = % 25000 =Z5000

Education kids = E x25000
100

=2500
Other expenses = 0 x25000
100

=12500

. Total candidates = 2000

Passed candidates = 75%
% of failed candidates = 25%

No. of failed students

-2 %2000 =500
100

. Total income =3 20000

Aditi spends = T16000
Aditi saves = 20000 — 16000
=34000

x100 = 20%

% of saving = 23880

Total marks = 400
Total marks obtained = 247

% scored by Rakesh

=247 100 =6175%
400

Total marks Tanu scored = 480



12.

13.

14.

15.

% of Tanu = % x100 =96%

Total marks Diksha scored = 960
960

% of Diksha = —— x100

1000

=96%
..Both obtained same marks
Total oranges = 5 dozen
1 dozen = 12 piece
5 dozen =5 X 12 = 60 piece
% of obtain box = 100 — 300
= 70%

Oranges are left in box = 70 x60
100

=42
Room rent = 34500
Luxury tax = 8%
Pay in all for the one days
i x 4500 =360
100
Three days = 3 x 36 =% 1080

Express the first quantity as a
percentage of the second:

(a) 25, 30
25 x100 = @
730 3
=833%
(b) T 50,3 550
=0 100 =59 _ 9099,
550 55

(c) 2 dozen, 2 score

2 X 12 = 24 score

%XIOO 1200

Total marks = 400

Total obtained = 149

Total marks = NES x 400 =300
100

More obtained in English

=300 - 149
=106

_ Profit

1. (a) C.P.=3%15,S.P. =20
Profit =S.P. - C.P.
=20-15=5

x100
100

=—x100= T =333%

(b) C.P. =125, S.P. =140
Profit =140-125 =%15

Profit % = E %100
125

300

=—=12%

25

(c) C.P. =%20000, S.P. =24000
Profit = 24000 — 20000
=%4000

4000

Profit % = ———x100 =20%
20000

(d) C.P. =R15000, S.P. =%16000
Profit =16000—-15000 =1000

1000

Profit % = x100=666%
15000

2. (a) C.P. =3250, S.P. =3225

Loss=C.P.-S.P.
=250-225=325

Loss

o =——x100
C.P.

- %100 =10%
250

(b) C.P. =%1075, S.P. =%950
Loss = C.P.-S.P.
=1075-950 =125

Loss % = 2> %100 =11.73%
1075
(¢) C.P. = %120, S.P. =110

Loss =C.P.-S.P.
=120-110=X10

Loss % = & x100
120

100

=—=833%
12



(d) C.P. =3350, S.P. =280
Loss=C.P.-S.P.
=350-280=%70

Loss % = ﬂ x100
350

~700 _ 00
35
3. (a) S.P. = 2220, Profit = 10%

C.P. = S.P. — Profit

=220-10=%200
Loss % = C.P. - S.P.
=200-220=%-20

(b) S.P. =%190, Loss = 5%
C.P.=S.P. + Loss
Loss =C.P.-S.P.

Loss % = 2% 4100
C.P.
Loss % = M x100
C.P.
59, = M %100
C.P.
~SP 100=100-5
CP.
=190 100=095
CP.
cp. =120xX100 5 _ 500
(c) S.P. = 446,
Profit % —11 % = 23 %
Profit % = ﬁ %100
C.P.
=2 _SP00-100
S.P. 1

=—"x100= 100+117
C.P.

S—leOO 1117
C.P. 2

446 x100x2

177

= C.P. =400
(d) S.P. = 1690

Loss % = CP. - SP. x100
C.P.

‘V —100—2—1; x100

84l S-P. %100
2 CP.
S.P.x100
84l
2
1690100

gal
2

C.P.=2000

4. Shopkeeper purchase =3225
Shopkeeper sold = 32500
C.P. =%225,S.P. =32500
Profit =S.P.-C.P.
= 2500 — 225 =32275

Profit % = 275 x100 = 2100
225 9

CP.=

CP.=

=101111%
Loss =C.P.-S.P.
=225-2500=%2275
= 22275 100
225
=-1011.11%
24

5.CP.=—=X2
12

sp.=2-z3
5

Profit =S.P. - C.P.
=3-2=3%1

Profit % = 7><100 = % =50%

Loss %

Loss = C.P. -S.P.
=-1

Loss % = _71 x100 = -50%

6. Let the C.P. of article be x
Loss% = 10%, Loss = 10% of x
10 x
=—ofx=—
100 10



Acc. tp questions
S.P. =39000

C.P.—Loss = 9000
xX—x 10x —x

=9000 =9000

% _ 9000 9x =9000
10

x =%10000

7. 4dozen=12 x 4 =348
C.P. =348
SP.=150%x48=72
Profit=S.P. - C.P.
=72-48=324

Profit % = L8t . 100
CP.

_ x100 = 50%
48

8. S.B., Profit % = 15%

Profit % = L= 1100
15=230-CP. .00
C.P.
15= %XIOO—IOO
115 = 23000
C.P.
CP.= 23000 C.P. =3200
115
S,.S, =300
Profit % = SP-CP %100
=MX100=@=50%
200 2

9. Profit % of 1 radio = 12%
Loss of 2 radio = 17%
S.P. of two radios =3156

C.P. of each radio =17+ 12%
=156

29% = 156

100 % = % =53793%

10. C.P. of each toy =500
Loss% = 10%

11.

12,

Profit% = 10%
10% of 500 = %50
For 2 toys = 10% of 1000 =100
S.P. =100 + 50 + 50 =3650
C.P. of cycles = 850 + 120 =3970
S.P. = 1000
Profit = S.P. - C.P.

=1000-970 =330

Profit% = 30 x100 = 309%
970

C.P. of house = 480000 + 120000
=3600000
S.P. =3750000
Profit=S.P. - C.P.
= 750000 — 600000

=%150000

Profit% = 150000
600000

x100=25%

. Calculate the simplest interest and

amount when:
(a) P=%600,R =6%
T=3
S 1= PxR ><T= 600x6x%x3
' 100 100
S.1=X108

Amount = Principal + S.I.
=108 + 600 =% 708
(b) P=% 1000, R = 5%

T=5

S I_P><R><T_1000><5><5
' 100 100

S.1=X250

Amount = Principal + S.I.
=250+ 1000 =% 1250
(c) P=%4500,R =4.5%

T=6month:£:05
12

PxR xT

S.I=
100
_ 4500%x4.5x05

100
Amount = Principal + S.I
=4500 + 101.25 =% 4601.25

S.I=X101.25



2. Calculate the ratio of interest in
the following:
(P=%100,SI=20,R=2T

=4
SJ:PXRXT
100
100x Rx 4

100
R =5%

20=
20 _

=20=Rx4

(b)P =% 500, S.1=% 300, R =?
T=4

_ 500x Rx 4
100

300=20R =@=R =15%
20

300

(c)P=%250,S1=%70
R=7T=4
Sl:PXRXT

100
_250xRx4

100

7
7=100R =—
100

70
=R =7%

3. P=%1000,S.1=?,R=8%
T =4 years
S I:P><R><T= 1000x 8 x4
' 100 100
=3320
=320 + 1000 =% 1320
4. SI=A-P
S.I=9000 - 7500 =
1500
P=%7500,S.1=% 1500, T=2
R=7
SJ:PXRXT
100
1500 = 7500x Rx2
100
1500 =150R

5.

_ 1500
150

Ratio interest double itself = 10%

10% = 1 years

100% = 10 years

.SI=A-P

R R =10%

S.I1=885-750
SI1=%135
Sl:PXRXT

100
_ 750X Rx3

135 135=225R

1350

R=—"— R=6%
225

When P %1800
S 7= 1800x6x25
100
SI1=%270
Amount=SI+P
= 270 + 1800 = %
2070

. P, =3000

T, =4, P,=8000, T, =2.5

s.q, =3000x4x g p jo0x
100

5.1, = 8000x25x
100

S.I, + S.I, = 2880

120x + 200x = 2880

S.I, = 200x

320x = 2880
x= 2880 x=9%
320
. Find the principal in following
cases:
()S.I1=%240, T = 2 years, R =
6%
P S.Ix100 _ 224 x100x3
RxT 6x2
24000 5 _ = 5000
12
(b)S.I1=%220



T=4=2 2034 R = 4%
12

_S.Ix100 _ 224 x100x3

p
RXxT 034 x4
_ 67200 _ 16800 P = 16800

Multiple choice question:
l.a2.c3.a4.c5.b

NCERT CORNER

Fill in the blanks:

1.Less 2. Principal

3. Simple interest

4. Project 5. Loss

True and False:

1. False 2. False 3. False 4. False
5. True

Chapter-9

. Write down the following as a
rational numbers:

7 -6 0 -5,.26
(@) 1 (b) 1 (© 1 (d 1 © ER

. Identify the numerator and
denominator each of the
following rational numbers:

17
(a)g

Numerator = 17
Denominator = 25
-11
b) =
() 23
Numerator =11
Denominator = 23
16
C -
© =9
Numerator = 16
Denominator = — 29
-13
dH—_2
( )_2 1
Numerator =—13
Denominator = — 24

. Determine

+11
e -
( )_23
Numerator = 11

Denominator = — 23

. Write down the following

rational number as an integer:
(@)11(b) 13(c)—16(d) 0 (e) 18

. Identify positive and negative

rational numbers:

(a) Positive  (b) Negative
(c) Negative (d) Positive
(e) Positive

. Write the rational numbers

whose numerator and denomina
-tor are given below:

-4 x5 -20
(@— 2 ==
-7+(12) -19
8-5 _3
® (2)%x(-3) 6

. Express each of the following as

a rational numbers with positive
denominator:

-4 -7 . -11 -24
a)— (b) — (¢) — (d) —
()5(19)9()15()17

21
ei
()29
whether the

following rational numbers are
in the lowest form or not:

(a)Yes (b) No (c)No
(d)Yes (e) No

. Express each of the following

rational in the lowest from:

-144 -786 —-389
a)—— — =
(@) 235 ®) 282 141
-525 105
©=22="2
415 85
216 -1 -648 8
D=2="" @ =2
-432 2 +576 7
. Determine whether the



following rational numbers are in
the standard form or not:
(a) No (b) Yes (c)Yes
(dYes (e) No
5. Express each of the following
rational in the standard from:
15 -1
(a ) @ § (b) 53
288 -2 216 108
©——=— @
144 1 408 107
624 11
(e) =

112 4

7 .
6. Express 5 as a rational number

with numerator:

@ )z z 7 49
5 57 30
7 17 11 77
®5759175
o112 _84
5 512 60
@7, 14_-8
5 514 70
7,8 _=5
5 5 8 40
7. Express % as a rational number

with denominator:

@2=2,10_20
3 310 30
2 2 16 32
(b)§§16—48
(©2-2,32_ 64
3 332 9%
@2=2x10_20
3 3710 30
2_2 12_24

()5 3712 36

8. Fill in the blanks:
(a)-56,-45 (b) 143,-55
(c)-12,-14 (d)-245, 189

1. Whether of the

Chapter-9.3

following
rational numbers are equal:
-15 -11_-15
@ X
11 15 11
—11><11 =-15x15
—121#-225
They are not equal
-3 2 -3 2
®) 89 89
-3x9=2x8 -27#16
They are not equal

-1 4 -1_-4

—,— —X
()3 12 3 12

-1x12=4x%x3 -12=-12

They both are equal
5 -1
fe ) P
@ 20’ 4
5x4 =1x(-20) 20=20

They both are equal

2. Compare the following rational

numbers:
11 -19
(a )7 =T
X135 =-19%25
165=-4975 =171
25 25
16 25

(b)—, == =16x18=-25x18

18 18
288 =—450 —E -2
18

18
-11 16

()Hi

-11x21=16x%21

_321=336 -1 16
21 21
12

10
d—<—
(d T

()j % —4x7=4x11




-1
15 '-18
~11x(-18)=11x15

®

-11_ 11
>

198=165 —>—
-18

®22

17’15
21x15=21x17

3152357 2121
17

15
16 16

o 16

™o
16x21=16x9
336-144 10,16

9 721
(i)_—lé,_—5 =-16x7=-5x%21
2177

= 112=-105 =_10.2°
7
32
—,— =-3x9=-2x8
0) <9
= 27--16
=L =2~ 1x2=-3x10
102
= p-3 =_1.3

10 2
w733 —17x12-33%4
412

17 33
:7>7
4 12

=204 =132
2 257
1

1 4
-25x1=7x%x4
1 2
-25=28 -6—-<5=
4 1

3l 32 7 -1
23 2 3
7x3=-11x2

21=-22 31>—3g
4 3

1
m)—6—,5
(m) 1

©op2lsl 27
4 2 4 2
I%x2=7x4
18=28 21<3l

4 2

2 _1 20 46

6-,5- —,—

®) 379 3°9
20x9=46x%x3

180=138 62551
3779

3. Arrange the following rational
numbers in increasing order:

(a)

18 -16 -5 2 4
—<—<—<—<—
-11 11 11 -11 11
2 =22 2 2
1579 °-3"-11"17
L.CM of 15, 9 -3, 11, 17 is

8415

-2 2 2 2 2
e e i S
15 -11 9 -3 17
-2 -5 7 -1 5

37612424
L.C.Mof 3,6, 12,4, 24is 72
2,24 _48

3°24 72

-5 12 -60

X ="

6 12 72

7 6 42

X —=_"

12°6 72

-1_18 -18

X =

4718 72

5.3_15




9 4
X =
4 4

9 5 4 2 3

R St ey gy

4 4 16 4 2
4. Arrange the following numbers
in decreasing order:
18_ 4 —2 -5 _-11
@[> >
11 11 11 11

—4 —4 —4 -4 -4

97572
11 -14 13
7’14735 70 '14
L.CM of 7, 14, 35, 70, 14 is

490
—2 70 140

7570 490
9 35_3I5

14735 490
-11_14 154

35 14 490
98

-14 7
— X—=—
70 7 490

14 35 490

13,9 -14_-21 -2
110 3507
2 -6 -5 -1 3
127247 48’2424
L.CM of 12, 24, 48, 24, 24 is

144
g 12 24 -6 6 —36
12712 144 24 6 144
-5 3 _-15 -1 6 ;6
48 3 T 144 24 6 144
3 6 18
X —=—
24 6 144

2 3 -1 -5 -6
> > > >

12 24 24 48 24

1. Draw a number line and

represent the following rational

numbers on it:

Do yourself.
2. _—landl
2 5
LCMof2and5=10
15 5 1.2 2
275 10 5 2 10
-4
10
.3 34
20°10°5
4. — 4 andg
13 39
L.C.M of 13 and 39 = 39
4 3 12 5 60
X=X ="
13 3 39 5 195
131 13_5 65
TxI=CxI ="
39 1 39 5 195
6l 62 63 64
1957195195195
5. Identify the positive and
negative rational numbers.
‘Write in separate column:
Negative Positive
- 3
8 2
4 -6
5 -7
17 8
-34 3
-16 17
17 38
-13 9
18 16
15 16
19 -17
13
-19




-5

13

Chapter-9.5

1. Add the following rational
numbers:

-2 5
a)—and =
(@) - -
-2 5 245 3
7+7= -

7777 77
7 s
)~/ and >

(b)yand

THES)_1-5_12_

12 12 12

12
©5and’ 5+3_8_
8 8 8 8
(d)gandi 9+(5) =i

11 -11 11 11

2+7+(5) _ 9+(-5) _ 4
3 3 3
-4 -5 -7
—,—and —
® 9 9 9
4 +(-5)+(-7)
9
_A-5-7_-l6
9 9
2. Add the following rational
numbers:

1 3
a)—and —
()2 1

LCMof2and4is4
243_5
4 4

-7 5
b)—and =
() 1 -

L.CMofland7is7

—7+5=;2

7 7

5 3
c)—and =
()12 8

L.C.M of 12 and 8 is 24
10+9 19

24 24

7 -5
d)—and| —
( )18 (12)

L.CMof12and 151is 36

14 +(-15) -1

36 36
(e) (_17)and 3
20 15

L.C.M of 20 and 15 is 60
-51+52 1

60 60
-3 -8
—land—
® (17) S
L.CMofl17and 511s51
—9+(-102)+(-8)

51
_-9-102-8 -119

51 51

L.CMof5and 15is 15
6+4 10 _2
15 15 3
-1 1
7+7
(b)9 3
L.CMof9and8is 72

-8+9 _ 1
72 27
2 (-7
) —+|—
( )15 (30)
L.C.M of 15 and 30 is 30
6+ _3_-1
30 30 10
(d)3+(_2)+_5
4 6 16
L.CMof4,6and 16is 48
-36+(16)+(-15)

48




_36-16-15_ 5
48 48
-16) 70 -1
@e—|+—=+—
15) 30 45
L.C.M of 15, 30 and 45 is 90 8
-36+210+(-2)

60+(-130)+(-27)

150
_60-130-27 _-97
150 150

3 7 (—2)
R o [
8§ 12 \ 9

90 L.C.Mof8, 12 and 9 is 72
_36+210-2 _172 27+42+(-16) 27+42-16
0 go ; 90 72 72

052
10 (5) 15 7
L.C.M of 10, 5 and 15 is 30 41 62 9 20
_27+(-18)+(-14) 9. 4567 Y
2 183?4 1 27+40 o7
_27-18-14 -5 -1 6 6

30 30 6 2 (-31) (-7 7

4. Let the other no. be x: 10. 4 -+ —= [+| = |+| 0+~

A 5 (10) 15 30
x+()= 2 (_31) (_7) (—187)

18) 9 e Bl Ll el

5 -5\ —10-(5) 5 \10) \15 30
x:_—(_): 132 +(-93)+(-14)+(-187)

9 \18 18 =

30

yeo 132-93-14-187

18 =

30

5. 17 35 162 -27
36 18 =0 5
_-17-10 27 -3 05
"% "%

6. Let the no. be x: 1. Subtract the first rational
3 1 7 numbers from the second in each
Z+5+x=ﬁ of the following:
3427 @27 =1=5_2

tr=_— 99 9 9
4 24
-1 7 7 1 (b);6 8 =8_(_6)=E
2T T*Tata 11711 111
4 -7 1-4 -11
24 24 _37 _39 13 3
4 (-13) (-9 (d)-—,—

7.+()+() 1515
10 \15 ) 50 _9-(7)_9+7 _-2
L.C.M of 10, 15 and 50 is 150 T 15 15 15

2. Solve the following:



-2
a — PR
() T
L.C.M of 8and 16is 16
14—(—2):§:
16 16
-9 4
by 2 |- 2
ofi2)-(5)
L.CMofl4and5is 70
—45— (56) —45+56 11
70 70 70

)i

L.CMofl5and 101is 30
—4-(-15) —4+15 _ 11

30 30 30

4
ors )

LCMofland9is9
—45—(-4) _ -45+9 =§
9 9 9
3. Let the other no, be
4

9
-3

=4

X =

w\»—A

1

9 o
4. Let the other no, be
(—5) o 2 (—5)
x+| === x="-|—=
3 3 3 3

_2-(5) _-2+5

X
4
9
1
)
X

x:
3
5. Let the no. be x

-5 2+5
—+x=2 x="——
10 10

_20+5_25 _5

10 10 2
6. Let the third no. be x
-2 5 19
—_ +x -_——
3 9 18

9 18
-1, 19 19 1
— 4 x = = =_
9 18 18 9
1942 7
18 6

7. Let the no, be x

(1+1)+x=5
3 4

(4+3)+x=57+x=5
12

12
_5—7
12
60-7 53
= X =—
12 12
8. Let the no, be x
2 3 3 2
—_——X=— —_-X=———
15 7 7 15
105 105
_31
105
9. Let the no, be x
Sumoflandg
2 5
1.1 5+2 7
+ -
25 10 10
Sumoféandf
4 3
3 g 9+8 17
4 3 12 12
Subtract—fro 7 g—l
12 10 12 10
_85-42 43
60 60
10. Simplify following:
() 7 5 4
18 27
LCMof9 18,27 1is 54
—42+15+8 9
54 T 54



5 2 -7
7_7+7
(b)3 3 6
LCMof3,3,6,is6
10-4+(-7) _10-4-7 -1
6 6 6
@23 4
5 10 7
L.C.M of5, 10, 71is 70
_ -28+21-(—40)
70
_T28+21+40_33
70 70
1. Multiply:
3.5 1.5 5
(a) X = —x===
6 4 2 8
35
b—><5 —
(b) D
(C)jxé ;8
9 7 21
6_ 17
d-x- =1
()7 ‘
2. Multiply:
3 _(-15 3_-15 1
(a) =x|— —X—==
5 \-18 5 -18 2
9.9
(b)g A
9.9 27
7)(7 —_
86 16
-2
o)|—[x
o)
jxg -1
9 4
11 -24 11 24
3. Simplify:
-8 27 2 22
o) (o
18 65 11 18
-3 -2 -79
7+7=7
26 9 234

o5 (55)
(%) (575)
-5

_ —81-(-160) _ -81+160
144 144
7
144

o113 (105)
11 -26 50
B3] (ot
11 -26 50
( 6) -14+6

-1-
5 5

—5+6

_L
5
11 N —57
d
()( =
2 -3

3 2
—44-(-9)_44+9 _53
6 6 6
4. Multiply:

3 _-12
a) =X —— X

()8
3 —12

o5 J( 5
4
—24 38 1
19 24 4 2
5. Simplify:
14 18) (-8 13
@7 2%)
7) (26" -16

5 24
+
(48 25)




(14 18) (—8 13)
—X— |+ —x—
9 7 26 -16
(5 24)
+
48 25
1 80+5+2

4+—+— =
4 10 20

( 15 4) 2_6 12)
®) S Ex s
10 123 3 4 18

(3 34 11
H=x"=x—
17 6 22

(3 15 4) 2_6 12)
10°12°3 3 4 18
(3 34 11
H=x—=x—
17 6 22

1
2
4

21
7+7
3 2
3- 3=g=1
36 6 2
6. Total students = 60

Students like maths = %
Students like Science = é

Students like English = %
Students like G.K =

60—(1+1+1)
5 6 10

6+5+3

30
14 1800-14

30 30
_ 1786893
30 15

=60-

=60

7. Find:
@) % x60 = 40 (ii) §x30 =20

(iii)§><45 ~30(iv) §x37=18
(b)(i)§><24 :15(ii)§><46:25
(iii)%><64 — 80 (iv) %xSO ~50

1. Divide:
1
a)2by —
(@) Y2
4 1 8
(b)—8by—5 =—8+i5
_64_64
-5 5
3, -18 3 4 1
)—by— =Zx—=—
@Oy 476
12
d)6by —
(G)) T
2><B=19
12 2
2. 11 2 2 4
e —b =  IX==—
@35 3075
21 -30 21 42 49
O 35 %50 e
42 36 30 60
(g)— 1 by —69
-1
—“IXx— =—
69 69
15 10
() Y18
;“xB:ﬂ
12 10 20
2. Let the other no. be
xX (-10) =18
—-10x =18
-18 -9
= — xzi
10 5

3. Let the other no. be



25 _5 = -5 25
27 9 9 27
_-> 27 -3

9 25 5
4. Let the no. be

(—2) -18

x X

5 15
—18 §
15 2

5. Cost of 2 meter cloth = 125

Cost of 1 meter cloth =125+

=125x%

v

Cost of 1 meter cloth =350
6. Simplify the following:

@ 2 4 16 5

(3 5) (ﬁ2_4)
10+12 1615
(%52 )57
2,1 _2 128
15 12 15 1 5
65 8 65 8

(b)(lz 3) (12_3)
65+32)_ (65-32
( 12 )( 12 )

97 33 97x12 97

12 12 12733 33
()( 14 27) (5 42
28) (21710
(—14 27) (5 42)
9 “28) (21710

el =22

(-IDX(E )
( )X(lélxﬁ)

N

2 4 8
X1l =—
Grsh=3s

7. Show x +y =y + x if

@x=2,y=>

2.5

3 6

2 6
“xZ=
3 5

(b)x =

w |
lion |
X + c\\

Nw‘ll\)w\ww\t\)
\
*
\

(S RRTN
AN
1]

N =N =
X

w

o0

Multiple choice Question
l.a2.c3.c4.c5.c

NCERT CORNER

Fill in the blanks:

1.0 2. 1 3. Multiplicative inverse

4. Positive 5. g
True and False:

1. (a) True (b) False (c) True
(d) False 2. False 3. False

Chapter-10

1. Draw a line parallel to a given

line mat a distance:
(a)3 cm



wo ¢

(b)4 cm

wo p

(c)2cm

(d)3.7 cm

wd L'¢

2. Can we draw the triangle be
using measure of sides given
below:

(a) Yes (b) No (c) Yes (d) No

3. Can we draw the triangle be
using measure of angle given
below:

(a) 40°+70°+70° = 180° Yes
(b) 90°+40°+60° = 190° No
(c) 110°+60°+20° = 190° No
(a) 60°+60°+60° = 180° Yes
4. Construct the following triangle:

(2)

C
S,
N <
2
A B
(b)
R
-
g 5
. N
P 3 cm Q
(©
Z
g %
X 5cm Y
@




30°

M 6 cm N

6. Construct the following triangle:
()

>
o
a
8
o]

5. Construct the following

. B
triangle:
()
C
60° 307
A 5cm c
A (b)
O
2
R
A 5 cm B
(b)
70° 30

8 cm Q

R|
7
A
- K
90°
o
P 3cm Q

7. Construct the following right
triangle:




(a) Chapter-11

T Exercise - 11.1

1. Find the perimeter of rectangle
ABCD having dimensions:
% (a) Length = 15.5 m breadth
90° =10.5
A B Perimeter of rectangle = 2
(b) (I +b)
=2 (15.5+10.5)
=2x26=52m
7~ (b) Length = 14 m breadth = 9.8
/00,)] Perimeter of rectangle = 2
(/+b)
90° =2 (1449.8)
S om B =2x238=47.6m

(c) Length = 5% m breadth = 2%

A

Length = 5.75 Breadth = 2.5
Perimeter of rectangle = 2

({+0)
=2(5.75+2.5)
=2(8.25)=16.5m
15 cm B (d)Length = 11.5 m breadth =
(d 7.5
Perimeter of rectangle = 2 (/ + b)
=2(11.5+7.5)
=2x19=38m
. 2. Find the perimeter of square
T e having side lengths:
()20 m
/k Perimeter of square = 4 X side
A =4x20=280
(b)19.8 m
Multiple choice Question: Perimeter of square = 4 X side
1.d2.c3.d4.a =4x19.8=792m
NCERT CORNER ©2im =2 m =125
Fill in the blanks: 2
1. Constant 2. 60° 3. Acute Perimeter of square = 4 X side
4. Not possible =4x12.5= 50m
True and False (d)100.25 m .
1. True 2. True 3. True 4. True Perimeter of square = 4 X side

=4x100.25=40.1

(53




3. Find the  perimeter of
parallelogram whose adjacent
sides are given below:

()12 cm, 6 cm
Perimeter of | |gm = 2 (I+b)
=2 (12+6)
=2Xx18=36cm

(b) 10.5 cm, 2.8 cm
Perimeter of | |gm = 2 (1+b)

=2(10.5+2.8)

=2x%x13.3=26.6cm
1

(c)Sfcrn,Sg cm
2 3
5.5cm, 3.67 cm
Perimeter of | [gm =2 (5.5 +

3.67)
=2(20.16) = 40.34
4. Find the perimeter of rhombs
whose sides are given below:
()12 cm
Perimeter of rhombs = 4a
=4Xx16=64cm
(b)2.25 cm
Perimeter of rhombs = 4a
=4x225=9cm

1
c)9- cm=9.5
© 5

Perimeter of rhombs =4 a
=4x95=38cm
(d)6.25 cm
Perimeter of rhombs = 4a
=4x6.25=25cm
5. Perimeter of rectangle = a+b+c

=6+5+8=19

6. Perimeter of rectangle = a+b+c
=5+5+8 =18

7. Side = 6 cm

Perimeter of equilateral triangle =
3a

=3x6=18
8. Length : breadth = 6:5

10.

11.

12,

Perimeter = 220 m
Perimeter = 2 (I+b)
220 = 2 (6x+5x)
x= 110 x=10
11
Length = 6x=6 x 10 = 60 cm
Breadth =5x=5x 10 =50 cm

. Let the breadth of field be x

Length of field = x + 10
Perimeter of field = 100 m
Perimeter = 2 (I+b)

100 = 2 (x+x+10)

50=2x+10
=50-102x
40=2x x=20

Length = 20+10=30m
Breadth = 20 m

Perimeter of triangle = 40 cm

1% side be x

2" side = 10+x

39 =2x
Perimeter of A = x+10+x+2x
40=4x+ 10
30 =4x
x=17.5

1% side = 7.5 cm

2" side = 17.5 cm
3¥=2x75=15cm
Smallest side = 40 cm

40x7 _

Larger side = 56

Perimeter of | |gm = 2 (56+40)
=2x96=192m
Perimeter of | [gm 120 m

Perimeter = 2 (2x+10)
=120 = 2 (2x+10)
=60=2x+10
50=2x =25m
1% side = 25 mm
2" side = 25+10 =35 m



Exercise - 11.2

. Find the of rectangle whose
length and breadth are given
below:

(a) Length= 12 cm, breadth = 8§ cm
Area =1Xb
=12 x 8 =96 cm’
(b) Length = 10.5 cm, breadth =
6.4 cm
Area=1Xb
=64.4 % 10.5 = 67.2 cm’

(c) Length = 3% =3.25 cm,

breadth 4% =42 cm

Area=1xDb
=3.25x4.2=13.56 cm?

(d)Length = 8% =85m = 8.50

cm breadth = 100 cm
Area=1Xb
=8.50 x 100 = 85000 cm’
. Find he are of square whose side
length given below:
(a) 15 cm
Area of square = sidexside
=15 x 15 =225 cm®
(b)6.9 cm
Area of square = sidexside
=6.9%6.9=47.61 cm’

(c)6§ =6.34m

Area of square = sidexside
=6.34%6.34=40.11 m’
(d)10.5 cm
Area of square = sidexside
=10.5 % 10.5 = 110.25 cm?
. Find the are of A ABC if:
(a) ZA =90°, AB=6cm,
AC=8cm

Area of A=%xlxh

=é><6><8=24cm2

(b) £ZB=90°, AB=18cm,
BC=9cm
Area of A =%xlxh

=é><18><9= 81 cm?®

(c) £C=90°,AC=4cm,
BC=5cm
Area of A=%xlxh

=é><4><5 =10 cm?

(d)£C=90°,BC=17cm,
AB=8cm
Area of A =%xlxh

:éx17><8=68 cm?

.Base=10m

Height =5m
Area of | |gm = base x height
=10 X 5 =50 m?

. Side of rectangle = xand x + 5

Perimeter = 65
Perimeter = 2 (1+b)
65 =2 (x+x+5
325=2x+5
32.5-5=2«
27.5=2x
x=13.75 cm
Length = 1375 cm
Breadth = 18.75 cm

6. Area of rectangle field = 350 m?

Length = 35 m
Let the breadth be x
Areal X b

350

350=35x x= x=10m
35

Perimeter = 2 (1+b)
=2(10+35)=2%x45=90m



7. Perimeter of square = 64m
Let the side of square be x
Perimeter = 4 X x

=64 x 4x

64
4

Area of square = 16 x 16
=256 m’
8. Length =2 m 25 cm
1 m =100 cm

=200 + 25 =225

Breadth = 1 m 50 cm
=100+ 50 = 150 cm
Area of blackboard = 150 x 255
= 33750 cm’
Cost painting = 15 X 33750
=% 506250
9. Side of square = 15 cm
Area of rectangle = side’
=15x 15 =225 cm®
Let the length of rectangle be x
Area of rectangle =1 X b
225 =xx 10
225 =10x
x=22.5
Length of rectangle = 22.5 cm
10. Let the length of altitude be x
Area of | |gm =120 cm®
Areaof | [=bxh

X x=16

120 = 15 x
120 = 15x
120

x=—x=8cm
15

Length of altitude = 8 cm

11. AB=15cm
AC=17cm
AreaofAz%xbxh
=L w7222
2 2
2

Area of A=127.5cm
12. Base of A=16.2 cm

Area = 81 cm?

Let the length be x
Area of A =%><b><h

81=é><x><162

_sl
81
x=10cm

81=8.1x «

Length of A 10 cm

Exercise - 11.3

. Side of park = 80 m

Area of park = side’
=80 x 80 = 6400 m’

Side of square covering road and
park = 88 m
Area of square = 88 m?

=88 x 88 = 7744 m’
Area of path = 7744 — 6400

= 1344 m*

Cost of gravelling the park

=1344 x 12 =% 16128

. Side oflawn = 75 m and 50 m

Side of lawn after removing path
=75-8=67mand 50 -8
=42m
Area of lawn = 75 x 50 m
= 3750 m?
Area of lawn after removing path
=67 x42=2814m’
Area of path = 3750 — 2814
=936 m*

. Length and breadth of a room

=10m and 6 m

Width of border =50 cm = 0.5 m
Area of room = 10 x 6 = 60 m?
Area of room after removing
border =9 x 5 = 45 m?

Area of border = 60 — 45 = 15 m?
Cost of colowing of border
=15x12=%180



4. Length and breadth of park are =
3xand 2x

Perimeter of park = 2 X ( 3x + 2x)
500 = 2 ( 3x and 2x)
250=5x x=50
Area of park =15 % 100
= 15000 m’
Area of park removing path
=144 x 94 = 13536
Area of border = 15000 — 13536
= 1464 m*
Cost of graveling of path 1464 x
22 =% 29280
5. Dimension of field are = 250 m
and 200 m
Width of road= 4 m
Area of field = 250 x 200
= 50,000 m*
Length of field after removing
roads = 230 x 20 = 230 m
Area of field after removing roads
=230 x 200 = 46000 m*
Area covered by the road
= 50,000 — 46000 = 4000 m*
Area left = 46000 m?
Find the are of shaded portion:
(a) Length =40 m
Breadth = 60 m
Area = 40 x 60 = 2400 m?
Length of shaded portion
=40-4=36m
Breadth of unshaded portion
=60-456m
Area of unshaded portion =
36 x 56 = 2016 m’
Area of shaded potion = 2400
—-2016 = 384 m*
(b) Area of shaded portion
= (2x3x50) — (3)*
=300-9=291m"
7. Length of rectangle field = 500 m
Breadth of rectangle field

10.

=300 m

Width of path = 6 m

Area of path = (6 X 500 + 6 x 300)
- (6

(3000+1800) — 36

= 4800 - 36 = 4764 m*

. Length table cover = 6 m

Breadth of table cover =4 m
Area top of the table = (6 — 0.5) X
4-0.5)

=55%3.5=19.25m?

. Length of rectangle = 75

Breadth of rectangle 50
Area of square = 75 x 50

= 3750 m?
Area of square = (8)

= 64 cm?
Area of left cardboard = 3750 — 4
X 64
= 3750 — 256 = 3494 cm’
Length = 60 m
Breadth = 40 m
Area of rectangle = 60 x 40

= 2400 m?
Length 40 — (0.5+0.25)
40 = (-0.75) = 59.25
Breadth =40 - (.5+0.20)
=40-0.7=393m

Area of unshaded portion
=59.25 x 39.3 = 2328.525 m’
Area of shaded portion
= 2400 - 2328.525 = 71.475 m*

Exercise - 11.4

. Find the radios of circle with the

following diameters:
()20 cm
R= 22—0 R=10cm



1 25

(b)12— 5 cm
R—é R—§=6.250m
2 4
() 10.5cm
10.5

(d)8.4cm
R= % R=42cm

. Find the circumference of circle
with the following radios:
(a)6.5 cm

D=2R D=13cm

1 7
3= cm —cm
(b) 5 5

D=2R D=7cm
(©)9.7cm

D=2R D=194cm
(d)6 cm

D=2R D=12cm
. Find the circumference of circle
with the following radios:

(a)r=14cm
Circumference 2mtr
2 % x14 = 88 cm
(b)r=10cm
Circumference 21tr
2320 = 40
7 7
=62.85 cm
(c)r=28.7cm
Circumference 2mtr
ZX%XZS =180.4 cm
(d)r=3.01cm
Circumference 2mtr
2x Q x301
7

13244

_D_56

=1892 cm

4. Find the circumference of circle
with the following diameters:

r=E r=7cm
2

Circumference 2wtr

2><7><7 =44 cm

_D_25

="=125cm
2

Circumference 2mtr

2x=—=x125
7

550

=78.57 cm

=28cm

Circumference 27tr

2x%xzs —78.57 cm

=9=z=3.5crn
2

Circumference 2mr

X35 —1%—22cm

5. Find the area of circle with the
following radios:
(a)7.7cm
Area mr’

_ 22,97 =186.34 cm?

(b) 14.14 cm
Area mr’

7 x1414 = 696.96 cm?



Area mr?

%le = 1386 cm?

(d)8.2 cm
Area mr’
22 %82 = 147928
7
=211.32 cm?
6. Find the area of circle with the
following diameters:
(@21lcm r= % =10.5
Area mr’
22 %105 = 24255
= 346.5 cm®
56
(b)56 cm r=7:28
Area mr?
% %28 = 2464 cm?®
(c)14 cm r=%=7
Area mr’
% x7 =154 cm?
(d)10 cm
r= 10 =5
2
Area mr?
22 X5%5= 550
7 7
=78.57 cm?
7. Circumference = 44
Area 2mr =44
nr 4—4 nr =22
2
r= Q r="7cm
T

8. Ratio of circle = 1:2
Circumference of 1%
circumference 2™ circle

circle =

10.

11.

12,

2nr =2nr
2nx1=2nx2=1:2

. Ratio of radios =1:2

Area of 1% circle = Area 2™ circle

T’ =nr)
n)22nQ)? 1=4
Length = 36 cm

Breadth = 20 cm

Perimeter of rectangle = 2 (1 + b)
=2(36+20)
=2x56=112

Circumference of circle = 2mr

112 =2mr r—112

2n
28><7 17

—cm
11 81

Area of circle = 7’

%x1781x1781 = 999,35 cm?

Radius =49 cm

Circumference = 2mtr
22

—27 =49 =308 cm’
Circumference = 2nr
88 =2mr
88
— =7
A
by
b 22

Multiple choice Question:
l.c2.a3.c4.c5.a
NCERT CORNER

Fill in the blanks:

1. 2(1+b) 2. Perimeter 3. wxd

4. %ab 5. Radius
True and False:

1. True 2. True 3. False 4. False
5. False



Chapter-12

Exercise - 12.1

. Write the factors
following terms:

()3 x5%Xaxbxc
(b)3xaxaxaxb
(-2X2x2xpxgXxgq
(d)2x3%x3xpXgXgXrXr
(€)-3x3xpXxgxgq

() —2XxXxXyXyxzxz

(8) 2X2X2X2XxXyXyXz
(h)-5%Xaxx

(1) 5XTXxXxXXyXyXzXz
G) —pxgxr

. () Monomial (b) Trinomial

(c) Binomial  (d) Trinomial

(e) Monomial (f) Trinomial

(g) Binomial (h) Monomial

. Identify by the constant term in
the following expression:

(@8 (b) No constant term
(c) 20 @ 2

(e) No constant term

(f) No constant term

(g) 16 (h) No constant term
. Write the coefficient of the
variables given in brackets:

of the

@-5 (1 ()2«
(d-1 -1 ®O7
(8% (h)-10

. Separate the term of following
algebraic expression:

(@) -2x4y,z (b) x* -y -z
(©)2x,~4y—z (d) ax,by,c’

(e x”,y*, 2% 2xy,—2yz,-22x

0 x°,y° -3x*y2xy,-3y°x

(g) 409_x2 ’ y2 ’ny

. Write the algebraic expression
whose term are given below:
(@)4xy—5x+7yz

(b)x* = y* +xy

10.

(©)a® +b* + 27
(d)20- y* —x?
(e) x> —x-10

) x° —b> —3ab*

. Identify the like terms in the

following term:
(a)4xy and —5xy
8x* and —9x?
(b)2x*yand —5x>y
3xy* and —7y’x
(c) par® and 4qpr®
~p°qrand 7gp’r
(d)No like term
(e) ab® and —b’a
—ba’ and —a’b
() x*,~5x* and 7x°

. Find the value of following

expression:
(@a=1,b=2,c=3
=1+2+3=6
(b)1x2+2x3+3x1
=2+6+3=11
© M +2)* +(3)’
=1+4+9=14
(d)2x1+2-(3)*
2+2-9 4-9=-5

(e)1)* +(2)* +3x1x(2)* +3
x(1)* x(2)°
=1+8+12+6=27

® 1+2)A+(3)* -172)

31+4-2)
3(5-2) 3x3=9
. Arrange the following
polynomials:

@x*y* +x>y+xy+9

(b)-8x° +7x* —3x+10

©) xyz—xy+x+2z

(d)2x*y® +24x> —7y*

Write two examples each the
following:

(@) 3x,8x>

(b)3x+22x* +3



(©)3x” +4x+63x° +9x* +6

Exercise - 12.2

1. Find the sum of following:
(a)2x,+3x,8x,~7x
2x+(-3x)+8x+(-7x)
2x—3x+8x—Tx
10x—10x=0

(©) xy,-2xy,~7x y,3xy
xy +(=2xy)+(=Txp)+3xy
xy —2xy —Txy +3xy
xy+3xy —2xy —Txy
4xy—9xy = —Sxy

(e) xz ’7)}2 ’Sxa_z.y
x*+7y” +8x-2y

(2)8x” y—yx* 9yx® ,-5x° y
8x2 y+(—yx?)+9yx* +(-5x7 y)
8x”y— yx’ +9yx® —5x7y
8x>y—5x>y+9yx” — yx*
8xy+9yx® —5x%y— yx’
17x%y—6x7y
11x’y

(1) 9xyz —3xy,5xy,7x
9xyz —3xy+5xy+7x
9xyz —3xyl 2xy
9xyz — 9xy

2. Add the following expression:

(b) 7x*y—5x"y2x*y,x%y

7x? y+(-5x" )+ (22" y)+(x* y)
Tx*y—5x*y-2xy+x’y
Ix*y+x’y—5x"y-2xy
8x’y-Tx’y=x"y
(d) m5m—n+Tn
m+5m+(—n)+7Tn
m+5m—n+Tn
bm+T7—-n—n
6m+6n
® 9xy,8x% ~7xy,—6x"
9xy +(~Txy)+8x> +(-6x7)
9xy — Txy +8x* —6x°
—2xy +2x°
(h) par,—qpr, 1pq,—qrp
par +(=qpr)+(pq) +(—qrp)
pqr —qpr +qrpq —qrp

G) pa’ +ap®, par,rpq
pq’ +ap’, par,rpq
rq’ +ap’

(@x+y+z2x+2y+22,-3x-3y-3z
=x+y+z+2x+2y+2z+(-3x-3y—3z)
=x+y+z+2x+2y+2z-3x-3y-3z
=x+2x-3x+y+2y-3y+z+2z—y-32z=3x-3x+3y-3y+32+3z

(b)6x” —4y* —2z7 —8x* +3y> +72% 927 —2x* +7y?
=6x" —4y* =227 +(-8x> +3y> +727)+(-9z% —2x* +7y?)
=6x> -4y 22> —8x” +3y” +72* —9z° —2x* +7y*
=6x" —8x7 —2x> +y> +3y* +7y* —22> +72% - 927
=6x" —10x” +11y° —112% +72°
=-4x* +11y° -4z

(©



Sxy+7yz —9zx,—8zx +3xy,~Txy +4 yz

=5xy+7yz —9zx +(—8zx +3xy)+(-Txy + 4 yz)
=5xy+7yz —9zx —8zx +3xy—Txy+4yz
=5xy+3xy—Txy+7yz+4yz—92x —8zx=8xy—Txy +11z —17xz
=xy+11lyz—17xz

(d)abc+a® +b*> +c* —a®> +b* —c* —2abc, abc+2a* —2b*
=abc+a® +b* +c? +(-a’ +b* —c* —2abc + abc +2a” - 2b*
=abc+a® +b* +c? —a’ +b* —c? —2abc + abc +2a” - 2b*
=abc—2abc+abc+a® —a® +2a* +b*> +b” 20 +c7 - ¢?
=2abc—2abc+3a® —a’ +2b> —=2b*> +0=0+2a* +0+0=2a">

(e)6p” +7¢> —3pqr,—8p* —3q* +T1pqr2p* —Opqr
=6p° +7q° —3pgr+(-8p° —3¢” +T1pgr)+Q2p* —9pqr)
=6p> +7q* —3pgr—8p*> —3q> +Tpgr+2p*> —9pqr
=8p® +8p® +2p” +7q* +3q” —3pgr +7pqr—9pqr
=8p® —8p® +4q” —12pqr +Tpqr
= 4q” —5pqr

() a® +b* +c* +2ab+2bc+2ca~2a* —3b* —4c* —2ab—2bc—2ca
=a’® +b” +¢* +2ab+2bc+2ca+(-2a* —3b* — 4c* —2ab—2bc —2ca)
=a’ +b” +c* +2ab+2bc+2ca—2a* —3b* —4c’ —2ab-2bc—2ca)
=a® +2a” +b* =3b” +c* —4c? +2ab—2ab+2ab+bc —2bc +2ca—2ca)
=—a’>-2b*> -3¢ +0+0+0
=—a’-2b" -3¢’

(& xy+yz+zx+5-2xy—3yz—332x+8
=xy+yz+zx+5+(-2xy—3yz-3)+(3zx+8)
=xy+yz+zx+5-2xy—3yz—-3+3zx+8
=xy+2xy+yz—3yz+zx+32x+5-3+8=—xy+2yz+4zx+13-3
=—-xy—2yz+4zx+10

() x” +y* +2xy,-y" —xy,~x" —xy
=x"+y? + 200 +(-y" —0)+(x" ~xp)
=x2 4y 4+ 2uy—yl —xy—xt —xy=x" —x +y? -y’ —2xy—xy—2xy
=0+0+2xy—2xy
=0+0+0

(1) In+8n+2p,-3m—2p~Tn+p+q
=9m+8n+2p+(-3m-2p)+(-Tn+p+q)
=Im+8n+2p-3m-2p+-Tn+p+q
=9Im-3m+8n—Tn+2p-2p+p++q=6m+n+3p—2p+q

=6bm+n+p+q
3. Subtract the following:
(2)3xy—9xy =6xy (b) 8y* —8x?
(c)-35y°x” —45x*y* =-70y*x> (d) -7x*(9x*)=-Tx* +9x* =2«
(€)60a’ —35a°b* ® 5xy—(-8xy)

Sxy+7yz —9zx,~8zx +3xy,~Txy + 4 yz =5xy+8xy =13xy



(g)30xy — (-20xy) (h) 0—8x=-8x
=30xy +20xy = 50xy
(1) 7x* -0="7x"
4. Subtract the following:

(@)-9x—2y—(8x+7y) (b) 8x* +9x—70—-(2x* —4x+10)
= 9x—2y-8x—Ty =8x” +9x—70-2x* +4x-10
= 9x—8x-2y—Ty =8x% —2x° +9x+4x-70-10
=-17x-9y =6x" +13x—80

() -5xy+3yz —8xz—(2xy—2yz +2zx)
—=5xy+3yz—8xz—2xy+2yz +2zx
=-5xy—2xy+3yz+2yz—8zx+2zx

(dx® =2y% —(x* +»*)

—x2 2y —x? 1y

@ x*+y* —2xy—(x” +y* +2xy)
=x>+y? —2xy—x> —y> —2xy
=-2xy—2xy=—4xy

(0 x> +y° =2xp—(x* +y” +2xy)
=x>+y? —2xy—x>—y> —2xy
=x?—x"+y* —y* —2xy—2xy
=0+0-4xy=-4xy

(g) -9mnp +8r* —(dmnp+3r*)

—9mnp +8r* — dmnp —3r’
—9mnp — dmnp +8r* = 3r’
—13mnp +5r°

()x* +y* +2° +2xy+2yz +22x— 200

() 6p> —Trs +18pqr —(6p> +7g> +8r* +3pgr)
=6p> —Trs +18pgr—6p* —1q*> —8r* —3pgr
=6p> —6p> —T7q> —Trs +18pqr —3pqr—8r*=0-"7¢" +1

5. Let the number should be added= a
5xy+7x> +a=2y> +3xy
a=2y" +3xy—5xy—Tx>
a=2y" +3xy—2xy
6. (-5xy+8x+2y+7xy—8x+3y)—(9xy—x+3y—3xy)
=-5xy+8x+2y+7xy—8x+3y—9xy+3x+3y—3xy
=-5xy+7xy+9xy+3xy+8x—8x+3x+2y+3y—-3y=14xy+3xy+2y
7. Let the no. should be added a
11x® —=3y° +22xy+a=8x" +ay® —15xy
a=8x" +ay’ —15xy—11x° +3y> —22xya =3x>12y* —37xy
8. Let the no should be subtracted = a

125 +5x° —9x+5—a=-7x" +3x° —8x+11

—a=-T7x" +3x> —8x+11-(12x> +5x° +9x+5)

—a=-T7x" +3x> —8x+11-12x> +5x° +9x -5



10.

2.

3.

—a=-Tx" =3x> =8x+11-12x° —5x> +9x-5
—a=-Tx" =5x> +3x* —=12x°> —8x+9x+11-5
—a=-12x"-9x> +x+6

a=12x* +9x° —x—6

So, the no. is12x? +9x° —x—6

. Let the third algebraic expression be a

—6x° —2x7 —9x—6+(-3x> +8x° +10x+7)+a=18x> +17x* +5x+15
a=+18x> +17x +5x+6x° +2x” +9x+6+3x” —8x> —10x—7
a=+18x> +6x° —8x° +17x% +2x> +3x” +5x+9x—10x+6—7
a=16x" +22x* +4x-1

So, the third algebraic are =a =16x> +22x* +4x—-1

Side of a triangle are = 3x* +4y? —7xy,—8x” —9y* +8xy and9x” +12
So, the perimeter of triangle

=3x> +4y* —Txy+(-8x” —9y* +8xy)+(-9x* +12)

=3x> +4y” —7xy—8x> —9y* +8xy—9x* +12

=3x> —8x” —9x* +4y° —9y? —Txy+8xy+12

=14x" -5y +xy+12

M.C.Q
1. (b) 2. (b) 3. (a) 4. (b)
NCERT CORNER
Fill in the blanks:
1. Trinomial 2. y*zandz?y 3. Unlike 4. 14
Chapter-13
. Find the value each of the following :
(@)2°2%x2x2x2%x2%x2=64 (b) 3° 3x3%x3Xx3x3=243
(©)9° 9X9IXIXIX9 (d) 11° 11x11x11
(€)6° 6x6x6 ) (-3)* —3x-3x-3=-27
(2)8° 8 x8 x8 =512 (h) (-3)° 2x-2x-2-2x-2=-32

(i) 10* 10x10x10x10=10000 () (-12)° —12x-12x-12=-1828
K)(-9)* -9x-9x-9-9=-6561

Identify base and exponents in each of the following:

(a) Base — 5 Exponents — 4 (b) Base — 2 Exponents —0

(c) Base—9 Exponents — (-2) (d) Base—(-6) Exponents -3
(e) Base—5 Exponents — 5 (f) Base-—(-8) Exponents— (10)
(g) Base — x Exponents — y (h) Base—(-y) Exponents—x

(1) Base—a Exponents — a () Base—(-100) Exponents — 2
(k) Base -3 Exponents — 3 () Base—10 Exponents — x+y
Simplify:

(a)2° x4 2x2x2x4 x4 =128



(b)(-3)* x(-5)°
—3X-3X-5x-5x-5=-1125
(©)2° x(-3)°
2X2X2X2X2
=-3Xx-3x-3x-3x-3x-3
=23328
(d)5% x(-6)°
5X5X—6Xx—-6X%x-6 =-5400

22
o3)

-2 2 -2 -2 -2
=— X—X—X—X—
3 3 3 3 3
-3

243

3
(f) (1) =ixixi=i
10 10 10 10 1000
( )(—12)2 _-12 -12_144
1) " 13713 16
2
o 2) =28
10 10 10 100
5. Which one is greater in the
following pair:
@2°[ 16
2X2X2X2X2X2 ,6%X6
64 > 136
®)3%[ 15>  3x3[ 15x%5
9[ <125
(©(3)’or(-4)’
—3x-3x-3[ ]-4x-4x-4
27[>]-64
(D47 [ 12°
4x4[ ]2%x2x2x2
16=16
©6°[ 13°
6X6X6[ ]3x3x3x3%x3x3
216[ < 1729
(H (-2)’ or (-10)*
2X-2X-2-2x-21[ ]
-10x-10
-32[ < 1100

6. Express each of the following in

exponential form:

@B () @)*xE)’

(©) (5)* x(=6)° x(=7)°

(dD)(4) x(x)’ x()° x(2)°
=(4xyz)’

(e) (@)’ x(b)’ x(c)’ =(abe)’

o]

2}
(€)) (3

x(a)® xbx(c)?

N———

. Express each of the following

numbers in exponential form:
(a)125
5]125

NSISISISISISISISS

2Xx2x2x2x2x2x2%x2=(2)*
(c) 729
729
2

N
w

8
2

—_

]

\O

5 O 95 %Y 0%

w

—_




3x3x3x3x3x3=(3)° (h) 2025

(d)216

5|2025
2]216 5] 405
21108 3] 81
2] 54 3] 27
3] 27 3 9
3] 9 3 3
3] 3 1
1 =5X5%x3%x3x3x%x3
=2x2x2%x3x3x3 =(5)* x(3)*
=(2)’ x(3)’ =(2x3)’ (i) 500
(e) 625 2/500
5]625 21250
5125 S5[125
5] 25 S 25
51 5 5l 5
1 1
5x5x5x5=(5)* =2X2X5%X5%5
(f) 3200 =(2)* x(5)°
2[3200 () 3125
2]1600 5]3125
2] 800 5] 625
2] 400 5| 125
2] 200 5| 25
2] 100 5] 5
2] 50 1
% 22 =5X5%x5%x5x%5
p— 1 =(5)5
8. Express each of the rational
2X2X2X2X2X2X2X2X5XS numbers in exponential form:
=(2)" x©)y 8 2x2x2 (2
(g) 144 @27 3xaxa (3)
2| 144
20 72 2| 8 3127
20 36 2| 4 31 9
20 13 2] 2 3] 3
73] 9 1 1
3 i’ 2] 3x3x3 (3)3
125 5x5x%5 5
=2X2X2%x2x%x3x%3
=(2)* x3)*




3|27 5[125
3] 9 5[ 25
3| 3 5] 5
1 1
(@32 2x2x2x2x2_ () ’
243 3xX7x7 7’
2|32 7|1343
2|16 7] 49
2| 8 70 7
2] 4 1
2 2
1

(@16 2x2x2x2 :_@“

81 3x3x3x3
2116 3181
2] 8 3127
2] 4 31 9
21 2 31 3
1
(e)ﬁ 2x2%x3%3
64 2X2X2X2X2X2
(f)ﬁ _ TxTx7
729 3x3x3x3%x3x3
_@)
3)°
2136 2164
2118 2132
31 9 2(16
3] 3 2| 8
1 2| 4
2] 2
1
64
® 15625
:2><2><2><2><2><2
5x5x5x5%x5%5
2)°

:(2)6
6 \5

2164 2[15625
2132 2] 3125
2116 2| 625
2| 8 2 125
2] 4 2 25
2] 2 2 5
1 1

169

(h)36

13x13 (13)*

)

T2x2x3x3 (2 x(3)

oo

~

13]169 2|36
13] 13 2|18
1 31 9
3] 3
1
Ed :3><3:(3)2=(3
49 7x7 (1) 7
31 9 7149
3| 3 71 7
1 1
256
225
:2><2><2><2><2><2><2><2
5x5x3x%x3
__
(5)° x(3)’
2256 5225
2[128 5[ 45
2| 64 3 9
2| 32 3] 3
2] 16
2
2]
2

[\

1

9. Simplify the following:

(@) (‘32] %3y x(_lz]

i



_?zx_—zx3x3xixi=l

o))

N
3

4 4 2 3
“77773737 4",
2x2 4

TIx7 49
10. Ifa=1, b =2, c = 3 then find the

value each of the following:

(a) abc
Puta=1b=2,c=3
1x2x3=6

(b)a’be

Puta=16=2c=3
(1) x2x3=1x2x3=6

(c) ab*c
Puta=1b6=2c=3
1x(2)* x3
1x4x3=12

(d) abc?
Puta=1b=2,c=3
1x2x(3)*
2x9=18

(e) a’b*c?
Puta=1,6=2,c=3
M* x(2)* x@3)*
4x9=36

6 a®> +b* +¢?
Puta=1b6=2c=3
O +@)* +(3)°
1+4+9=14

(g)aObOCO
Puta=1b=2,c=3
1°42° 4+3°
0+0+0=0

(h)a® xb° +¢°
Puta=1,6=2,c=3
1° x2° x3°
0x0x0=0

Exercise - 13.2

1. Simplify the following write in
exponential form:

@) Q)* xQ)° [ax" xa" =a""™"]
(2)8+5 (2)13

(1)9° x9° [ax" xa" =a"""]
(9)6:3 (9)2
5 5

ofs) <
[ax" xa" =a

(5 2+6 (5)8

8 8

-'-(azm x(a)' f(a)o =(a)"""’

a _

@(2) ¥(

m+n ]

-4
b

(_a)4+7 (_a)ll
b b

()" x(a) x(a)° =(a)y""°
(e) x* xx* xx°

(x)2+4+6 (x)12

- (a)" x(a)' x(a)° = ()"

o()-C)L)
b 6)

~(a)" x(a)' x(a)’ =(a)""

. Simplify the following and write

answer in exponential form:
@C7) =7’
7’ (@) +(a) =(a)"™"
7
(b) 85 + 82
(8) (@) +(af =(@)""
®)’

2) (2
o(3) -3)




()" " (@) +(a) =(a)™"

s )w )
( ) ~(a)" =(a) =(a)"™

5] -

6 a’+a’
(@) w(a)" +(a)" =(a)"™
=(a)’

. Simplify the following and write

in exponential form:

@) =@ =)
s(am)' =(a)™

BE°) =3 =(3)"
s(am)' =(a)™

©GH) =B =(5*
s(am)' =(a)™

(d(A0*)* =(10)** =(10)°
s(am)' =(a)™

© 7))’ =™ =)’
s(am)' =(a)™

0 (6%)’ =(-6)"° =(-6)°

(am) =(a)"
(g)( 8%) =(-8)" =(-8)"
“(am)" =(a)™

(h)(42)3 =(4)" =(4)°
s(am)' =(a)™

(i) (6°)’ =(6)* =(6)"
s(am)' =(a)™

() 10°)" =(10)™° =(10)°
s(am)' =(a)™

. Simplify the following and write

in exponential form:

(a)(xa )b :xaxb :xab
(b)(x2 )b :xZXb :x2b
(C)(xx )Z :xxxz =xxz
@@*) =@ =(a)°
(e) (3x )2 — 3x><2 — 32x

(f) (y3)x :ySXx :ny
(g)(aé)O :a6><0 :aO =1

0Oy =97 =97
(1) (53)2 =53><x =531
G0 7T =D =™

5. Express as a single exponent:

(a)5° x4°
(5x4)° =(20)°
(b)(7)* x(-2)°
(-7x-2)° =(14)°

(€)2° x6°

(2x6)° =(12)°
(dpxy”

(xx )" =(x)”
(€)3° xa°

(3xa)’ =(3a)°
(f) 3* x7*

(B3x7) =(21)*
(g)4’ x9’

(4%9)" =(36)"
(h)5° x7°

(5x7)" =(35)°

6. Simplify:

@10° =1 [(a)" +(a)” =(a)""]
b)7° +7°
()% [na =1]
(7’ =1
(©)5° x6°
Ix1=1 [~a"=1]
(d)p° +2q2 i
z><q =q
(e)x° xxp°
Ixxxl=x [~a°=1]

ofy (]
(
|
-

W |




(xJ0+9 :(x)9
y y
(h)(30)x =30><x =30 =1

7. Express the following with
negative exponents:

@ic@ﬁ w)i=m*

(C)f () (d) -
1 1

© 5= 3x3x3_@_( v
(f) 3° +3° 3 *=03)"
(8)52 54 G =06)"
(h)a Xa
@ O
aé
0=t @
() 1+a=" =(a)"
a

8. Express the following with
positive exponents:

2_ 1 4_ L
@37 =5 ® 107 =
©8" 8" ® =@ =
D@D @ =L

X

282 4 =L
@G =10 =
Ox'=— @5 =

x” 5
M) (pg)* =
rq)

o) ()
o) L)

9. Simplify the following:
(a)(420 +415 )X410
(4)20715 x(4)10
(4)° x(4)"

(4)5—10 (4)—5 -

45
_ 1 1
4x4x4x4x4 1024

(b)(8° —9°)x5°

(1-1)x1 0x1=0
(©@107?)

(10)—2><2 :(10)4

1 1 1

10°  10x10x10x10
(d) {(42 )3 x2° } %28
{42)(3 X25}X(2)8
{4°x2° 1 x(2)®
{2%)° x2° 1 x(2)°
{(2)" x(2)°} x(2)°
(2)12+5+8 (2)25
12° x9° x4
6* x8°% x27
_ (3><4)5 ><(32)3 ><(2)2
3 ><2)4 ><(23 )3 ><(3)3
_ (3)° x(4)° x(3)* x(2)°
(3" x(2)* x(2)° x(3)’
_ (3)° x(2)"" x(3)°* x(2)*
(3" x(2)" x(2)° x(3)’
_ (3)° x(3)* x(3)” x(3)°
@) x(2)° x(2)™" x(2)?

10000

(©

_ (3)5—4—3+8 _ (3)13—7 _ (3)6
(2)4+9—10—2 (2)13—12 (2)1
=(3)° x(2) .
2100 ><2200 100+ 200
® 950 59100 - (2)50+100
B (2)300

— — 2 300-150 — 2 150
2 @ @

10. Find the value of n

@G*) =G")’



(52) =(5) =2n=12

=ng6=n=6

(b)6° x6" =6°

6" =(6)* =5+n=8

n=8-5 n=3
©@’)y =1 8"=1
(d)5" 2 x5 =125

5n—2 ><52;1—3 =(5)3

5n—2+2n—3 =(5)3

53n—5 =(5)3

3n-5=3 =3n=3+5

n=8 n=§
3
6 5 6 4 6 2n+1
@(3) (3) -5
6 5+4 B 6 2n+1
(7) _(7)
6 9 ~ 6 2n+1
(7) _(7)

9=2n+1 2n=9-1
2n=8 n=4

() 16x2""* =64
@) x(2)"* =64
24+n+2 =(2)6
6+n=6
n=6-6 n=0

Exercise - 13.3

1. Write the following in standard

form:
(2)927635400000
9276354 x10°
9276354 x10°*°
9276354 x10"
(b)6250000000 = 625x10"
625x10™* =625x%10°

(c)321000000000 = 321x10°
321x10°** =321x10"

625.78

(d)625.78 =
62578 x1072

62578%x107** =62578 x10°
(e)921356000
921356000 _ 921356 x10°

10000 10*
=921356x10°*
=921356x10""
=921356x107"*°
=921356x10*

(f) 06875000000
06875000000
10000000000
=6875000000x107"
=6875%x10° x107%°
=6875x10°"
=6875x10™
=6875x107** =6875x10™"

. Write the following in scientific

mutation:

_ 652127

(2)652107x10° = x10°

=652107x10% x1072
=652107x10"' =6521070
(b)@xlo"’ =321x10° x107°
1000
=321x10°"?
=321x10° =321000
9216532 s
x10

=9216532x10%2

=9216532x10°

=9216532000000
(d)0000321x10°®

_ 0000321, 0

1000000

=321x10® x10° =321x10%"°

=321x10% =32100
(€)8256x10"

=82560000000000

(6 002154 x107 = 202154 147
100000

©

=2154x10""
=2154 x10* = 215400



3. Write the following in expanded
form:

(@)3x107 +2x10° +1x10° +
5x10* +0x10% +2x10'
+1x10°

(b)6x107 +0+0+5x10* +
4x10° +3x10% +2x10" +1

(©)9x10% +8x107 +7x10° +
6x10° +5x10* +4 x10°
+3x10% +2x10" +1x10°

(d)2x107 +0+1x10° +0+
5x10° +0+6x10" +0

(€)9%x10° +3x10° +2x10* +0
+7x10% +2x10" +1x10°

() 1x10" +9x10" +0+2x10°
+8x107 +0+3x10° +7x10*
+0+4x10% +6x10" +0

4. Write the following in short
form:

(2) 98765437 (b) 607403245

(c) 4462156  (d) 10574510

5. Write the following in simple
form:

(a) 5632000

() 731200

(e) 3756000000

(f) 12345000000

M.C.Q

1. (c), 2. (b), 3. (b), 4. (c), 5. (b)

Fill in the blanks:

1. 7.8 2. add 3. Subtract4. 15.0

True and False

1. True 2. False 3. True 4. True

5. True

Chapter - 14

Exercise - 14.1]
1. AOBCDE,MT,U VW
2.H,1,0,X
3.(a)2(b)No(c)No(d) 1(e)4 ()2
@1M4@O506E8M7
4. (a) Diameter (b) Median

(b) 3812100
(d) 65432

(2) (b)

(© ®

(c) Perpendicular bisector of base
5. draw the line of symmetry of the
following figures:

Exercise 14.2)
1. (a) 90° (b) 90° (c) 90° (d) 180° (e)
360° (f) 90°
M.C.Q
1. (d), 2. (a), 3. (b), 4. (d)
Fill in the blanks:
1. Line of symmetry
2. Point of rotation
3. Scalene
4. Infinite



